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9/27-28 £41EIU20 B AR LR ECEF AR @FFMEH

Iy rYU—=UZb+ (IR) 202569850 ()K=

A¥ #E BREESR BREANT iR MERFR | 245 | BETHEE |ENREH| HEARNEE |HEARE 1%
1|U208F100m B S RA hA REBRAZR HE &2 [100m 10.22 100m 10.22
2|U20%F100m Ll w2 DIVT AU #EPEX FEL KZ1(100m 10.24 100m 10.24
3|U205F100m =N AN NANTD VY bt WA E#3|100m 10.27 100m 1027
4|U208F100m FISNL KADHF|7I5nL A FF |BEX KR K%1]100m 1028 |100m 10.28
5|U205F100m i Rl YI¥F Ty hRK #HEN | K%1]|100m 10.29 100m 10.29
6|U205 F100m INE BAS aL\m 79k hRK I K%1[100m 10.31 100m 10.31
7{u20% F100m Nt 2B any w44 BXELE (] E=#3[100m 10.31 100m 10.31
8|U20%F100m #wAR HZE RXx fiY BRELE B8 & 1%3]|100m 10.35 100m 10.35
9|U208F100m TNTARR TIURURAR |INTFaHR TIURURAE |EZERRA Il K1 [100m 10.36  [100m 10.36
10|U205F100m iR v/¥F Ak 8PN WE) | KF1[100m 10.36  |100m 10.36
11|{U208 F100m At -8 FELT Do4FAY |BEE R E%3(100m 10.38 100m 10.38
12|U208 F100m £k BE Yy 197 BEFEE &L &#%3]100m 10.38 100m 10.38
13|U208 F100m A X hIES TUB BAKX Jti#mE | K%1[100m 10.38 100m 10.38
14|{U208 F100m Bl gE TAYT F5h BITEBER HE KZ1(100m 10.38 100m 10.38
15|U205F100m S8 BA R =rad E¥:>N EH K#1[100m 10.38 100m 10.38
16|U205F100m BA E 8% LY BRI BiR K%1[100m 1039 |100m 10.39
17|U205 F100m BB BE LS ES LEERERS (LS BE1%3[100m 10.39 100m 10.39
18|U208F100m PR & TR aeA E¥:5N iz K%2|100m 1039 |100m 10.39
19|U208 F100m WA EF8C YIH Ak #E RE =3 [100m 10.39 100m 10.39
20|U205F100m ERK & HHF aoF BIFER i KZ1[100m 10.40 100m 10.40
21|U205F100m A FAB AXEL OvEO7Y BEXIEE PN E%k2(100m 10.40 100m 10.40
22|U205F100m INE A *H7 boA E¥:YN jti#siE | K21[100m 1041 100m 10.41
23|U205F100m *F EH AT AR BREES Eit) E4%3[100m 10.41 100m 10.41
24|U205F100m HF RE 47 hEOY FEE Eik E#%k2[100m 10.42 100m 10.42
25|U208F100m ik B YA D5 NEFE RER =#3|100m 10.43 100m 10.43
26|U205F100m EH BEAM 434 FA407 [seld T PN & 1%3]100m 10.43 100m 10.43
27|U208F100m Mg EF Ao vagng | REXEX Ei3 K%1{100m 10.43 100m 10.43
28|U205F100m A e 74 7k RiEME S 18R &3 [100m 10.44 100m 10.44
29|U205F100m A AR ERLS 2407 |[BEES & E#%2|100m 10.44 100m 10.44
30|U205F100m aF EH A4 99H PPN I KZ1(100m 10.44 100m 10.44
31|U208F100m AalE @ WAXZ 2k LEHE B E#3(100m 10.45 100m 10.45
32[U20% F100m tE X5 VFY B3 PEAKS Ll 100m 1045  |100m 10.45
33|U208F100m B % EadrE e [:ES=-PN A5 KE1{100m 10.45 100m 10.40
34(U20% F100m HwE RAF DANT EaoA ZilE T =43 [100m 1045  |100m 10.45
35[U205F100m ERR K HYE aqf tEERE diEE  |E#R3|100m 10.45 100m 10.45
36|U205F100m Elo i) FELF avay  |[EBEIE 3 &3 [100m 10.45 100m 10.45
37|U205F100m nHE RE Y8 ayeA IEREX FE K2 (100m 10.46 100m 10.46 4= yMon =5 HIHTRE]
38|U205%F100m B H Ah Yabk HBX RN | K%1]|100m 1046 |100m 10.46 4= ybun =5t HIB R E]
39|U205F100m KR FIk FTH4¥Hh Feo BAXFEHE HR E#%3[100m 10.46 100m 10.46 4= yMrun =4 BB
40|U205F100m T3# haL [\ 7AV/% BRE AR E#%k2 [100m 10.47 100m 10.47 4=ybron =5 BT E]
41|U205F100m & &9 F37 Uk BAEEXR R K1 [100m 10.47 100m 10.47 =" yMron =4 BB
42|U205F100m S RIE TRE hA) BIEES JtiEE | &#R3[100m 10.48 100m 10.48 4=l'ybron =5 BT E]
43|U205F100m S 2N h3AB 7345 ESYES g3 E#%3[100m 1048 [100m 10.48 G- obun =5 HIB AR A]
44|U205F100m RIR BEAM HBNF oAy LEEES 8] &3 [100m 10.49 100m 10.49 4=y o =45 BT E]
45|U20%F100m R iR TR aveA BEE R 3 [100m 1049 [100m 10.49 G- obun =4 HIB AR A
46|U205F100m MR &= ¥ 2% ENMIE FaE 3 [100m 1049 |100m 10.49 S=ybun =5t HIB R E]
47|U205F100m BH EE ECZ R 2 UEL) BIEES diEE  |E#R3|100m 10.49 100m 10.49 4= yMun =4 IR
48|U20%F100m S YRA ETHY P E R Ell K#1(100m 1049  [100m 10.49 4= ybun =5t HIB R A
49|U208F100m R E NENS 4 mPE )| TS Il B3 [100m 10.49 100m 10.49 4=y run =45} BB F
50|U205F100m LA XYY FIL BER=A® B &#%3]100m 10.50 100m 10.50 4="ybron =5 BT E]
51|U205F100m BE A *To=L 84K BSAA R S K#1(100m 10.50  [100m 10.50 4= yMrun =4 IR
52|U205F100m At B3 FHLT /NLE BEX il]=] K#1(100m 10.51 100m 10.51 4=ybron =5 BT E]
53|U205F100m HE i BES ALY ERBERK |ERESR [X%P1]100m 10.51 100m 10.51 4= yMun =4 BT
54|U20%F100m HEEH W HIH 37 ZillE TR 43 [100m 10.51 100m 10.51 4= ybun =5t HIB R A
55|U205F100m NG EK asw s I RN &#%2|100m 1051 100m 10.51 4=y run =45} BB F
56|U2053F100m Kl XK *A95 IToi BEAKE £E &3 [100m 10.52 100m 10.52 4=yhron =5 BT E]
57|U205F100m B AR POZEE 2¢;) EEHBA Fx K%2(100m 10.52 100m 10.52 4= yMon =5 HIHTRE]
58| U205 F100m ®F Ra hFa AT EERBRA FHE K22 (100m 1052 [100m 10.52 4= ybun =5t HIB R A
59|U205F100m R OWMA EHY 4% ERE KR #%3|100m 10.52 100m 10.52 4=y run =45t BB F
60|U2053F100m #E X hva avgA BHIEKR g K#1(100m 10.52 100m 10.52 4=l'ybron =5 BT E]
61|U205F100m Bl EER ASHT e BaE a3 B2 [100m 1052 [100m 10.52 G- ybun =4 HIB AR A]
62|U205F100m EHR £F TANT 743 SEBRK = K1 [100m 10.52 100m 10.47 4=yhron =5 BT E]
63|U205F100m Il e ZUNT YNy dtiERs deigiE | &#3|100m 1052 [100m 10.52 G- obun =4 B A]
64|U205F100m R EH AR 447 BAES B E#%3 [100m 10.53 100m 10.53 4=y o =45 BT E]
65|U205F100m ER E SIINS BRI RRFHRE FE &#%3|100m 1053 100m 1053 A= ybun =4t IS AT
66|U205F100m BR EH NILF ZYED REXER REXR K%1(100m 10.53  [100m 10.53 4= ybun =5t HIB R A
67|U205F100m aEA LhA 2ok RiEES dti#sE | E#3|100m 1054  [100m 10.54 G- obun =5 HIB AR A]
68|U2053F100m B X huA HA4T ®iRE all &#3|100m 10.54 100m 10.54 4=yhron =5 BT E]
69|U205F100m =i K =7 3984 Elae S JLigiE &3] 100m 10.54  [100m 10.54 G- obun=5h B A]
70|{U205F100m BH @ URH Tk HALE HE &3 [100m 10.55 100m 10.55 4=y o =45 BT E]
1|U205 F200m TNTARR TIURURAR |INTFaHR TIURURAE |ERERRA Il K1 [200m 2080  |200m 20.80
2|U20%F200m #E5 B2 rE/ FA RIS FHE &2 [200m 20.87 200m 20.87
3|U205F200m At @ FTHLZ NIk 1EREX wn KE1(200m 20.88 200m 20.88
4|U20%F200m HF RE 47 hEOY EEE il &2 [200m 20.92 200m 20.92
5(U208 F200m xH EE Yy FTIY peldtrt KB &#%2|200m 20.93 200m 2093
6|U20% F200m W EF Y3/ NILE SRBK KR K2 (200m 20.96 200m 20.96
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A¥ #E BREA BREANT iR MERFR | 245 | BETHEE |ENREH| HEARNEE |HEARE 1%
7{u208 F200m RFE & THN Aoy JEiEm i E#3|200m 20.97 200m 2097
8|U205 F200m Y—F k& U—F 347 RHMEER PN K%2(200m 20.98 200m 20.98
9|U205F200m £ R Hh hUFx RRPEIRE |8 B3 [200m 20.99 200m 20.76
10{U205 F200m N RAE A4 Yand RBRWMES #hE E1%2|200m 21.02 200m 21.02
11|U205 F200m AR &2 ¥ 1% SENRIE L) B3 [200m 21.02 200m 21.02
12|U205 F200m KT & avy Ly ZKEFIANE [T E#%2|200m 21.04 200m 21.04
13|U20%8 F200m L HKE LFHT avinn  |HEES RN BHS|200m 21.07 200m 21.07
14|U205 F200m BB\ X *hE Say E¥:YN Eir] K2 (200m 21.07 200m 21.07
15{U205 F200m a0 BH B=GF TAF REEEE AR &2 200m 2110 |200m 21.10
16 U205 F200m ELES B e [-ESPN K5 K#1(200m 21.11 200m 2091
17|u20%8 F200m AH KFE 128 841 HSERE Eir] B3| 200m 21.14 200m 21.14
18|U205 F200m HE FER EPZ UL o FE &3 [200m 21.15 200m 21.15
19|U20%8 F200m hHF —iD THEY Avv £ 1 B8 E1%3)200m 21.16 200m 21.16
20|U205F200m WA #BH YYES FOF BI=E £E E1%3|200m 21.16 200m 21.16
21|U208F200m Mg BF Ao vagng | REXEX B3 K#1|200m 21.16 200m 21.16
22|U205F200m aF EH A4 99H TREFER E/3 K1 (200m 21.16 200m 21.16
23| U205 F200m na #& HITF Faod ELE #HhE E#3|200m 21.17 200m 21.17
24|U205F200m &7 A& hFa HUx AERBAD FE &3 [200m 2117 200m 21.17
25|U205F200m INE S *HT oA P¥:PN JtimE | K%1[200m 2117 200m 2117
26|U205F200m & B YA YUIRYT BEFEENE | RN &2 [200m 21.18 200m 21.18
27|U205F200m &E 14 /4% EAb RiBEX RN |KF1|200m 21.18 200m 21.18
28|U205F200m B’ OHK EAHY 44 ARE N E1%3)200m 21.19 200m 21.19
29|U205F200m Rk B HAby TE)L NEFE RER H#%3|200m 21.20 200m 21.20
30|U205F200m 3R /% Yok REXIEX ) | K¥1|200m 21.20 200m 21.02
31|U205F200m HN BB EYIF Uk SERME KB B#k2 [200m 21.21 200m 21.21
32|U205F200m =4 K =7 avEAq JtEERE dti#EiE |43 [200m 21.21 200m 21.21
33|U2055F200m ah EBE A=Fh LAY dimERs JtiEE | &#k2(200m 21.21 200m 21.21
34|U205F200m FE B NENT T4 e E )T I E1%3|200m 21.23 200m 21.23 4="ybrun =5 BT E]
35 (U205 F200m #HA BRE ARX¥ YavR EFERA A K%2(200m 2126 |200m 21.26 4= yMun =4 BB
36|U205F200m =K B SX Yay/Ry it £E &3 [ 200m 21.27 200m 21.27 4=y o =45 BT E]
37|U205F200m amEA LhA 2ok RiEES dtisE | E#3|200m 2128 |200m 21.28 4= yMun =4 IR
38|U205F200m LA XYY FIL BER=A® B E1%3|200m 21.29 200m 21.29 4="ybron =5 BT E]
39|U205F200m nyHy FATY NHY FAIY IR FE 3 [200m 2130 |200m 21.30 G- obun =4 B A
40|U205 F200m HERE #E BN Jas ERFER I 2 (200m 21.31 200m 21.31 4= ybun =4t HIB R A]
41|U205F200m #F EH AT A9RYT BREES el E#%3 [200m 21.31 200m 21.31 4= yMron =4 BB
42|U205% F200m N AL */ LAk EXRFEE f&L 1 [200m 2132 |200m 21.32 4= ybun =4t HIB R A
43|U208F200m #EE 8AFE 334 aYRY BAREILE 5 E#%3 [200m 21.33 200m 21.33 A= ybrun' =4t IS AT
44|U20% F200m BA A NUER FAY BrES Al &3 (200m 2134 |200m 21.34 4= ybun =5t HIB R E]
45|U205F200m AR EAH HENS Yrsady LEEES -] &#3|200m 21.35 200m 21.35 4=y run =45 BB F
46|U205F200m #/A & IfF LY BEX B8R K#1|200m 21.35 200m 21.35 4=ybron =5 BT E]
47|U20% F200m £ HE Yy A BAXER B 3 [200m 2135  |200m 2135 =" yMron =4 BB
48|U205% F200m RE BA UK Jans BAKEX L& K21 (200m 2135  |200m 21.35 4= ybun =5t HIB R A
49|U205F200m Kk X YUSZ v ENMEEEE  |BE &3 [200m 2136 |200m 21.36 4= yMrun =4 BT
50|U205 F200m Bt R2 AL a9F REFRE #E 3 [200m 2137 |200m 2137 4= ybun =4t HIB R A
51|U205F200m Kk BE X LAt WEEES =31 &3 [200m 2138 |200m 21.38 4= yMrun =4 IR
52|U205F200m hE A FhY< 2407 REBEER FiE K#1|200m 21.41 200m 21.41 4=l"ybrun =5 BT E]
53|U205F200m i Siin Y954 hXF RRBAZE |#E %3 [200m 21.41 200m 21.41 G- obun=5h B A]
54|U205% F200m HAR KE TAF FAF BAKEKX BE K21 (200m 2142 |200m 21.42 4= ybun =5t HIB R A
55|U205 F200m & EY EA5F I B3 3T K i K2 (200m 2142 |200m 21.42 G- ybun =4 HIB AR A]
56| U205 F200m SH W% TA% 7 FREE FE 3 [200m 2142 |200m 21.42 4= ybun =5t HIBRE]
57 |U205F200m £ M5 HYhy FIER BT ES iti) 3 [200m 2143 |200m 2143 4= yMrun =4 IR
58|U205F200m =iE 1R BhNY EDL LEERLRS (K5 &3 [200m 2143 200m 21.43 4=ybron =5 BT E]
59 U205 F200m ik BE Hry 19w BfEE R &3 [200m 2144 |200m 21.44 G- obun =5 HIB AR A]
60|U2053F200m £ BEA NG TxE REAX R K#1|200m 21.44 200m 21.34 4=l'ybron =5 BT E]
61|U205F200m KR FIk FTH4Hh Feo BAXFEHE £y E#%3 [200m 2144 |200m 21.44 4= yMun =4 BB
62|U205 F200m Hep AR BFh vaRy 1BPIEE L 2 [200m 2145  |200m 21.45 4= ybun =5t HIB R A
63 |U2058F200m M R *hE LYF AEEES BE %3 (200m 2146  |200m 21.46 4= yMon =5 HIHTRE]
64|U205F200m =iE T8 SANY FEO #itE ) |EHk3|200m 21.47 200m 21.47 4=y run =5 BT E]
65|U2058F200m BR EH NLE AYER AEXEXR BER K1 (200m 2147 |200m 21.47 4= yMun =4 BT
66 U205 F200m R AR Tht vIY REXAEK 11} K1 (200m 2147 |200m 21.47 4= ybun =5t HIB R A
67|U2058F200m HEE EW HIF 37 ZilE =ER B #%3|200m 21.48 200m 21.48 A= ybrun =4t IS AT
68|U2053F200m WT 2= I8 Tk AERFAES |BR &3 200m 21.49 200m 21.49 4=yhron =5 BT E]
69|U205F200m BiE % BhNY ¥ WA WHR) | &2|200m 2150  |200m 2150 G- obun =4 B A]
70|U205 F200m B HE INVNT Tt BXALSE KR 2 [200m 2150  |200m 2150 4= ybun =4t HIB R A
1|U205 F400m INE BTE AHT Io~nq WhE RER &3 [400m 46.38 400m 46.38
2|U20% F400m K B AFin FAYv BRI =2 E1%3|400m 46.53 400m 46.53
3|U20% F400m AN &N NEAT ARy BXELS B8 E#23|400m 46.55 400m 46.55
4|U20% F400m B T8 Shny FER A WE) | HHR3|400m 4657  |400m 46.57
5|U205F400m KH o *++ 45 ER/T IBRER 33 K%2 [400m 46.73 400m 46.73
6|U20% F400m AR BB R B9= ][ = £E E43 [400m 46.74  |400m 46.69
7{U20% F400m /A iR NES MY BFEE all E#3(400m 46.79 400m 46.79
8|U205 F400m A B TIYF T¥ER LEERE K8 43 [400m 46.81 400m 46.81
9|U205 F400m 1B &% NOIA BYF FIRK RE K1{400m 46.88 400m 46.74
10{U205 F400m pisull el DEFN TYF BEE AR E4k3 [400m 46.96 400m 46.96
11|U20%8 F400m Bl Ehx RFAT FavRr  |BHRNEFE R E#2|400m 47.02 400m 47.02
12|U205 F400m ER BKE ATE Yavv RiEME i) EH%3 [400m 47.03 400m 47.03
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A¥ #E BREESR BREANT iR MERFR | 245 | BETHEE |ENREH| HEARNEE |HEARE 1%

13|U20%8 F400m Hl EE TIAT UIR RERA® 2 E#%3|400m 47.03 400m 47.03

14|U205 F400m NG & avw axn PRARRERE  |BA 3 [400m 4704 |400m 47.04

15|U2058 F400m R B AHE¥ aYIRT FURK x5 KH2(400m 4713 400m 4713

16 U205 F400m BE EEKX NIF A5 [aeld T PN %3 ]400m 47.15 400m 47.15

17|u20% F400m R B’A ¥ EAk HEFES RER E#3|400m 4717 400m 4717

18|U205 F400m Bk EX HAb U 3PN HE K2 [400m 4720 |400m 47.20

19|U20%8 F400m wx &3 <YEL 2k BIEX &8 KE1(400m 47.20 400m 47.20

20|U205F400m ER A UNS 1ok SERAERE S GgE) E4%3 [400m 47.26 400m 47.26

21|U2058 F400m wHF BN Yhe LavRiy FRAEIE Eir] E#23|400m 47.28 400m 47.28

22|U205F400m = BX IUL5 2ok hRX dti#siE | K21[400m 47.29 400m 47.29

23| U205 F400m E WK LTt vavs IERRTE S RE E#3|400m 47.32 400m 47.32

24|U205 F400m NE X8 HhIHS HAF ERK EFIl K21 (400m 4736 |400m 46.91 4= ybun =5t HIB R A
25 (U205 F400m HIE B R SR 2 UhRKRK i K21 (400m 4737 |400m 46.84 4= yMun =4 BT
26|U205F400m A+ KB *hiLZ 437 BEX A K#1|400m 47.38 400m 47.38 4=l'ybron =5 BT E]
27|U205F400m KAR BE TR o= fod:: k= FE E#%3 [400m 4744  |400m 47.44 4= yMron =4 BB
28|U205F400m HE B 324 THER BRZE® FHAE E#k2 [400m 47.46 400m 47.46 4=h"ybron =5 BT E]
29|U205 F400m wa E#h YIIF FEY IIELIESN £ KE21[400m 47.47 400m 47.47 A=y =4t IS AT
30|U205F400m RFE R FHE Foian AERFAES |BR E4%3 [400m 47.47 400m 4747 4=y run =5 BT E]
31|U205F400m MHE £a THEY Yavh AL HE 2 [400m 4747 |400m 4747 G- obun =5 HIB AR A
32|U205% F400m RE IRAH FH4 azay ZillE T 43 [400m 4748 |400m 47.48 4= ybun =5t HIB R A
33|U205F400m T—T4Y TFAVY |R—T4¥ TrAUr |BAK W) | KF1[400m 47.53 400m 47.53 4=y run =45 BB F
34|U205% F400m AL hYI FEF HERBAZE |BE 2 [400m 4755  |400m 4755 S=ybun =5t HIB R A]
35|U205 F400m FER 1558 YA 2% GESN Fx K1 [400m 4760  |400m 47.60 =" yMrun =4 BB
36|U2053F400m =R OAME I¥ hXY LR g 123 |400m 47.64  |400m 47.64 4=y o =45 BT E]
37|U205F400m BER KR SYEL 4% HAEREAE | RH %3 [400m 4768 |400m 47.68 G- obun =5 HIB AR A
38| U205 F400m R AED 9=AT 4AY AR HE R 43 [400m 4768 |400m 47.08 S=ybun =5t HIB R E]
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40|U208F110mJH(99.1cm 9.14m) (B EEE FAR Yayiy BAXES ] B #53 |110mIH(©99.1cm 9.14m) |14.14 110mJH(99.1om 9.14m) |14.14 A=FyhFun' =4 ISR a]
41|U20BF110mJH©99.1cm 9.14m) | B & 32 AHBR Yay ERGEES BE B3 [110mIH99.1cm 9.14m) [14.15 110mJH(99.1cm 9.14m) |14.15 A=Fybrun' =54 ISR |l
42|U20BF110mJH(99.1cm 9.14m) [3RFF KIE Yha4 H43 HELS Ll |E#R3|110mIH©9.1cm 9.14m) [14.16 110mJH(99.1cm 9.14m) |14.16 S=kyhFun' =44 KIS FE]
43|U20BF110mJH(99.1om 9.14m) |HF 5 3a4A w4 wES PN B3| 110mIH(99.1cm 9.14m) |14.19 110mJH(99.1cm 9.14m) |14.19 A= ybrun—4b ISR T
44 U208 F110mJIH(99.1cm 9.14m) |FEO & ESF VS mEE)ES =1 B 1 [110mJH(99.1cm 9.14m) |14.19 110mJH(99.1cm 9.14m) [14.19 A= ybun =4 KIS AR T]
45 U208 F110mJH(99.1cm 9.14m) |ILA K& Y8 HA% RE#ES R 453 [110mUH(99.1cm 9.14m) |14.19 110mJH(99.1cm 9.14m) [14.19 A= ybrun =4 HIB AR ]
46|U20B-F110mJH(99.1cm 9.14m) | Bk ZE /9 bSFA Lav/Ry |BREFXES RER 2| 110mH(106.7cm 9.14m) |13.91 110mJH(99.1cm_9.14m) |14.30 A= by -5 IS AT
47 (U208 F110mJH(99.1cm 9.14m) | £ FEAER LSHS Paviany  |HEEE )| =43 |110mH(106.7cm_9.14m) [14.04 110mJH(99.1cm 9.14m) [14.77 A=Fybrun' =54 ISR |l
48|U20BF110mJH(99.1cm 9.14m) [ BF+ KIE K1 H4% FERRAS FiE B3 | 110mH(106.7cm 9.14m) [14.17 110mJH(99.1cm 9.14m) |14.25 S=kybFun' =44 KIS F ]
49|U20BF110mJH(99.1em 9.14m) |[FF} HF NFVF Tax BEFEEBER RE K21 [110mH(106.7cm 9.14m) |14.38 110mJH(99.1cm 9.14m) |13.87 A= ybrun—4b ISR T
50|U208-F110mJH(99.1cm 9.14m) [HLIL ZEK IV VS UhRIRK RE KE1 [ 110mH(106.7cm 9.14m) |14.41 110mJH(99.1om 9.14m) |14.72 A=FyhFun'—4 ISR a]
51|U208F110mJH(99.1cm 9.14m) | F)I| BK AShT IH4a LEEES N=] E4%2|110mH(106.7cm 9.14m) |14.43 110mJH(99.1cm 9.14m) [14.22 A= ybrun =4 HIB AR ]
52|U20BF110mJH(99.1cm 9.14m) (€38 #HA HFHD 2ok BEX | KEE1 | 110mH(106.7cm 9.14m) [14.47 110mJH(99.10m 9.14m) |14.98 A=FyhFun' =4t ISR a]
53|U20BF110mJH(99.1em 9.14m) | K AR 1 AR nvh [ 3IEPN BRE | K%2|110mH(106.7cm 9.14m) |14.48 110mJH(99.1cm 9.14m) |14.16 A= ybrun—4b ISR T
54[U20BF110mJH(99.1cm 9.14m) |H# £ BE A9 Hro EHrEE {731} 123 [110mH(106.7cm 9.14m) |14.49 110mJH(99.1cm 9.14m) [15.56 A= ybrun =4 KIS A T]
55|U208F110mJH(99.1cm 9.14m) [#5K {BER RRXE NIk i 47537 K FFL | KEE1[110mH(106.70m 9.14m) |14.51 110mJH(99.1cm 9.14m) |14.38 A=kyhFun' =44 KIS FE]
56|U20BF110mJH(99.1cm 9.14m) [BF FiE kMY 7AIL FRRIIE E=) B | 110mH(106.7cm 9.14m) |14.54 110mJH(99.1cm 9.14m) |14.26 S=kybFun' =44 KIS Fa]
57|U208 F110mJH(99.1cm 9.14m) |FHIL £ < avRg RKEXIEX BE K21 [110mH(106.7cm 9.14m) |14.56 110mJH(99.1cm 9.14m) |14.56 A=k ybrun' =44 ISR Al
58 [U20BF110mJH(99.1cm 9.14m) |#F £ Kby LSHS A4 BILTFERKX =S K2 [110mH(106.7cm_9.14m) |14.59 110mJH(99.1cm_ 9.14m) [14.50 A= ybun =4 KIS AR T]
1|U20 B F400mH(91.4cm 35.0m) |R&JI # INEHT FIRT BRELE (] #4523 | 400mH(91.46m_35.0m) |50.48 400mH(91.4cm 35.0m) |50.48
2|U20% F400mH(91.4cm 35.0m) (LLUE FBA Y4 FUx EhiwN EE K1 [400mH(91.46m_35.0m) |50.54 400mH(91.4cm_35.0m) |50.54
3|U208F400mH(91.4cm 35.0m) |iBEFH K& HhA4 HARYT mE )T 0 B3 | 400mH(91.46m_35.0m) |50.68 400mH(91.4cm_35.0m) |50.68
4{U205F400mH(91.40m 35.0m) |31 £ FHAER IJFHI Taraan [EXERE Ll B 453 |400mH(91.40m_35.0m) |50.71 400mH(91.40m_35.0m) [50.71
5[U208 F400mH(91.4cm_35.0m) | BFE K& hY4 1% HURK 2E K21 [400mH(91.4cm_35.0m) |50.75 400mH(91.4cm_35.0m) [51.17
6|U205 F400mH(91.4cm 35.0m) |ZFfE 1%1= HAho 2k NFRSE FE BE#%3 [400mH(91.46m_35.0m) |51.13 400mH(91.4cm_35.0m) |51.13
7|U20% F400mH(91.4cm 35.0m) |4} FIt ESTY FFav BERES BIRE  [E#K3]400mH(91.4cm 350m) 51.17 400mH(91.4cm 35.0m) |51.17
8|U205 F400mH(91.4cm 35.0m) |EER B AR DY S I | EHk3|400mH(91.40m 35.0m) |51.21 400mH(91.4cm_35.0m) [51.21
9[U20% F400mH(91.4cm 35.0m) |18 REE YYE Yok BAKX #Z) | KE21{400mH(91.46m_35.0m) |51.32 400mH(91.4cm 35.0m) |51.32
10 U205 F400mH(91.4cm 35.0m) (B it e LAY IAEER £E K21 [400mH(91.40m_35.0m) |51.40 400mH(91.40m_35.0m) [50.91
11|U208 F400mH(91.40m 35.0m) |4 K +18 TR BRMER HR 153 |400mH(91.4cm_35.0m) |51.47  [400mH(91.4cm_35.0m) |51.47
12|U208F400mH(91.40m 35.0m) [ILIA #4345 YYEL 29V th A £H K21 400mH(91.40m_35.0m) |51.58 400mH(91.4cm_35.0m) |51.12
13 U208 F400mH(91.4cm 35.0m) | Efh SY8 ARy 1EEREED 13 153 |400mH(91.4cm_35.0m) |51.61 400mH(91.4cm_35.0m) |51.61
14|U208 F400mH(91.4cm 35.0m) |EfE K ESHh ARy BEN=E EE BE#%2 [400mH(91.46m_35.0m) |51.68 400mH(91.4cm_35.0m) |51.68
15|U205 F400mH(91.46m_350m) |85 Bkik AXF HFH IAREER EH KE2 [400mH(91.4cm_35.0m) |51.75 400mH(91.4cm 35.0m) |51.54
16| U205 F400mH(91.4cm 35.0m) | ZEAE B HAhD NI 1EFFERK Lz K2 [400mH(91.46m_35.0m) |51.78 400mH(91.4cm_35.0m) |51.78
17]|U208 F400mH(91.4cm 35.0m) |25k [E YA B2 SEBRK #MEN | K%1]400mH(91.40m 35.0m) |51.78  [400mH(91.4cm 35.0m) |51.54
18|U205 F400mH(91.4cm 35.0m) |58 FEH YH vavw SIFNRFES B354 BE#%3 [400mH(91.46m_35.0m) |51.84 400mH(91.4cm_35.0m) |51.84
19 U208 F400mH(91.4cm 35.0m) |4k HAA Hho T8 KBRS KR #4523 |400mH(91.46m_35.0m) |51.85 400mH(91.4cm 35.0m) |51.85
20|U205 F400mH(91.4cm 35.0m) |BF 3 AhB Ya ERPEES B3y B3 [400mH(91.4cm 35.0m) [51.92 400mH(91.4cm 35.0m) |51.92
21|U208 F400mH(91.4cm 35.0m) [chE #E & FHh=Y FILE [-ESSPN = KE1 [400mH(91.40m_35.0m) |51.93 400mH(91.4cm_35.0m) |50.96
22|U205 F400mH(91.4cm 35.0m) (AR Hifg RyFx a4 PR HHhE K1 [400mH(91.46m_35.0m) |51.95 400mH(91.4cm_35.0m) |51.95
23 (U208 F400mH(91.4cm 35.0m) |FEH HH ES4 Fhn HREKZE HE 43 [400mH(91.40m_35.0m) |52.01 400mH(91.40m_35.0m) [52.01
24 |U208 F400mH(91.40m 35.0m) |;REH B NI hE BRE R & #%3400mH(91.4cm 35.0m) |52.10  [400mH(91.4cm 35.0m) |52.10 4=y run =5} BB F
25|U208 F400mH(91.40m 35.0m) |ZERE &K HAry av4 BARTRER HH 43 |400mH(91.4cm 35.0m) (52.12 400mH(91.4cm_35.0m) |52.12 4="ybron =5 BT E]
26 {U205 F400mH(91.4cm 35.0m) | BT FS{= IIYEX FHEE LEEEES 8] &#3|400mH(91.4cm 35.0m) |52.15  [400mH(91.4cm 35.0m) |52.15 4=y run =5} BB F
27|U208 F400mH(91.4cm 35.0m) |LLA Bt YIIF YaotA |REFES 5 423 |400mH(91.4cm_35.0m) [52.18 400mH(91.4cm_35.0m) |52.18 A=Fybrun' =54 ISR El
28|U20% F400mH(91.40m 35.0m) |FRE HAZE R Y9 L TEr £E E#%3|400mH(91.4cm 35.0m) |52.22  [400mH(91.4cm 35.0m) |52.22 4=y run =45} BB F
29 (U208 F400mH(91.40m 35.0m) |/NEE A =07 VAR d N P 3N F =] K21 |400mH(91.4cm 35.0m) |52.24 400mH(91.4cm _35.0m) |52.24 A=lybFun' =45} ISR E]
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30 [U205 F400mH(91.40m 35.0m) | &Il fEFE PRS2t EHFLEE FELL 43 [400mH(91.4cm 35.0m) [52.25  [400mH(91.4cm 35.0m) (52.25 4= yMon =4 BT E]
31|U208 F400mH(91.4cm 35.0m) |FA FEA T5EN YOk mEE &R & #23 |400mH(91.4cm_35.0m) [52.26 400mH(91.4cm_35.0m) |52.26 A=Fybrun' =54 ISR |l
32 |U208 F400mH(91.40m 35.0m) | &Y BK THIY hoB dimERS dbi#EE | E#K3|400mH(91.40m 35.0m) |52.38  [400mH(91.4cm 35.0m) |52.38 4= yMun =4 BB
33|U208 F400mH(91.40m 35.0m) |AFT F} LA4EY U REEES i 153 |400mH(91.40m_35.0m) |52.39  [400mH(91.4cm_35.0m) |52.39 4="ybron =5 BT E]
34 |U205 F400mH(91.40m 35.0m) |{kFE iF Hhy vay BAKX #H K21 [400mH(91.4cm 35.0m) [52.40  [400mH(91.4cm 35.0m) (52.34 4= yMrun =4 IR
35|U20%8 F400mH(91.40m 35.0m) |FEIE {E#H thHE 3LF JtEReE Al 153 |400mH(91.40m_35.0m) |52.46 400mH(91.4cm_35.0m) |52.46 A= ybrun—4b ISR T
36|U205 F400mH(91.4cm 35.0m) |/NAE BAER a¥y $ov EDRPN I 2. K21 [400mH(91.4cm 35.0m) [52.46  [400mH(91.4cm 35.0m) [52.46 4= yMun =4 BT
37[U208 F400mH(91.40m 35.0m) |/NFE B3 a=Y NILk EATA I K22 [400mH(91.40cm 35.0m) |52.49 400mH(91.4cm _35.0m) |52.28 A=l'yhFun' =45} IR A]
38|U208 F400mH(91.4cm 35.0m) [#B5T HBE NVES DTV BERES BRE |&E#:2|400mH(91.4cm 35.0m) |52.49 400mH(91.4cm_35.0m) [52.49 A=lybFun' =44 MG AR a]
39|U208 F400mH(91.40m 35.0m) | KLl HAF TAY< Uy JtiEERE dtiEiE | E#k2|400mH(91.40m 35.0m) |52.49 400mH(91.4cm_35.0m) |52.49 A= ybrun—4b ISR T
40|U20% F400mH(91.40m 35.0m) |#iE HBE AXIT U9 BAEIER F50 K221 [400mH(91.4cm 35.0m) |52.52 400mH(91.4cm_35.0m) |52.52 4=y run =45t BB F
41 [U208 F400mH(91.40m 35.0m) |ithp EE] A79F 1Y NI K & K21 |400mH(91.4cm_35.0m) |52.52 400mH(91.4cm_35.0m) |52.43 A=l'ybFun' =45} HiGF A
42|U208 F400mH(91.4cm 35.0m) [Fh7E% BE FHhRA NI AR BE K22 |400mH(91.4cm_35.0m) |52.60 400mH(91.4cm_35.0m) [52.60 A= ybun =4t IS AT
43|U20BF400mH(91.40m 35.0m) |#k HEZR NVY oA NEFE HR 423 |400mH(91.4cm 35.0m) |52.67 400mH(91.4cm_35.0m) |52.67 4=l'ybron =5 BT E]
44|U20% F400mH(91.40m 35.0m) |48 HBE F7IY AT DB -] 153 |400mH(91.4cm 35.0m) |52.68 400mH(91.4cm_35.0m) |52.68 4=y run =45 BB F
45|U20% F400mH(91.40m 35.0m) |HH FEA AFh a5 HWEARS #Z)I| | E#k3|400mH(91.40m 35.0m) |52.68 400mH(91.4cm_35.0m) |52.68 A= ybrun—4b ISR T
46 |U208 F400mH(91.40m 35.0m) |21l AF0 2¥yT Yk EABE = %2 [400mH(91.4cm 35.0m) [52.69  |400mH(91.4cm 35.0m) (52.69 A=y =4t IS AT
47|U20BF400mH(91.40m 35.0m) |H£E 1KE ¥/ 1w BEAKE EE 152 |400mH(91.40cm_35.0m) |52.70  [400mH(91.4cm_35.0m) |52.70 A= ybrun -4t ISR T
48 U205 7400mH(91.40m 35.0m) |dL)Il EA *8HT hoB BWES S E43 [400mH(91.4cm 35.0m) [52.72  |400mH(91.4cm 35.0m) [52.72 4= yMon =4 BT
49 [U205 F400mH(91.40m 35.0m) | L EALA HIH Yoaan L = 153 |400mH(91.40m_35.0m) |52.72 400mH(91.4cm_35.0m) |52.72 4=l'ybron =5 BT E]
50|U20% F400mH(91.40m 35.0m) |iE7K =EAER L3X asary ZHFES F50 153 |400mH(91.40m 35.0m) |52.72 400mH(91.4cm_35.0m) |52.72 4= yMrun =4 BB
51|U208F400mH(91.40m 35.0m) |F1H2 $RE LFTY EAL I ARSI K FaE K22 |400mH(91.40m_35.0m) |52.82  [400mH(91.4cm_35.0m) |38.92 A=y un =4} ISR A
52|U205 F400mH(91.40m 35.0m) |FEIE B YR JEL IEs dbiBiE | E#k3|400mH(91.40m 35.0m) |52.85 400mH(91.4cm 35.0m) |52.85 A=y =4t IS AT
53 (U208 F400mH(91.4cm 35.0m) |FEE BEA EYS NILE MBS FE 43 [400mH(91.46m_35.0m) |52.86 400mH(91.4cm _35.0m) |52.86 A=l'yhFun' =45} HiGF A
54|U20% F400mH(91.40m 35.0m) | KB HER FAHT Ay EFE BE %3 |400mH(91.40m 35.0m) |52.89 400mH(91.4cm_35.0m) [52.89 4=y run =45t BB F
1|U205F3000mSC(91.4cm) |fEIL 1§& rYT EOF hHEES £E B #23|3000mSC(91.4cm) |8:53.04 [3000mSC(91.4cm) (8:53.04

2|U203F3000mSC(91.4cm) |HE BKXK af IoE TILATES #E BE#23(3000mSC(91.4cm) |8:54.31  [3000mSC(91.4cm) [8:54.31

3|U203 F3000mSC(91.4cm) |RAX B FUES A RN KA AR BE#23|3000mSC(91.4cm) [8:57.96 [3000mSC(91.4cm) (8:57.96

4{U203 F3000mSC(91.4cm) |LLA EEA YITF Ak AELE = E#23|3000mSC(91.4cm) |9:00.45 [3000mSC(91.4cm) [9:00.45

5|U203 F3000mSC(91.4cm) |EAR FW FUEN HUT REBKRS RH B #23|3000mSC(91.4cm) [9:01.69 [3000mSC(91.4cm) (9:01.69

6|U203 F3000mSC(91.4cm) |711E #HAER B4777 A0 |BIAEES e E#%2|3000mSC(91.4cm) |9:01.96 [3000mSC(91.4cm) [9:01.96

7{U203 F3000mSC(91.4cm) |FHEE KRt SHAFT ATk MBS FE BE#23|3000mSC(91.4cm) |9:02.54 [3000mSC(91.4cm) (9:02.54

8|U203 F3000mSC(91.4cm) |2FH w/ an P Eir] E1%3 [3000mSC(91.4cm) |9:03.20 [3000mSC(91.4cm) |9:03.20

9|U203 F3000mSC(91.4cm) |BH MR URE hYR ‘i AR BE#%2|3000mSC(91.4cm) |9:03.44  [3000mSC(91.4cm) (9:03.44

10{U205 F3000mSC(91.4cm) |t RE *593 8% ZHFES = E#23|3000mSC(91.4cm) [9:04.02 [3000mSC(91.4cm) (9:04.02

11|U205 F3000mSC(91.4cm) |FFit HF EURY Tl —M%RE 5F B #23|3000mSC(91.4cm) [9:0455 [3000mSC(91.4cm) [9:04.55

12|U205 F3000mSC(91.4cm) |=iF IEE 3937 a7 —BE¥kEE EF BE#22|3000mSC(91.4cm) |9:04.60 [3000mSC(91.4cm) [9:04.60

13|U203 F3000mSC(91.4cm) |FAR HF /¥ Jagnd EigEd R 3000mSC(91.4cm) [9:04.85 |3000mSC(91.4cm) |9:04.85

14[U205 F3000mSC(91.4cm) |1EF TI=Y HRF FE] W 38 P 7 F5 E#X3|3000mSC(91.4cm) |9:07.09 [3000mSC(91.4cm) [9:07.09

15|U203 F3000mSC(91.4cm) |#3F EzZE Y34 )Y FIRFE B B #23(3000mSC(91.4cm) [9:07.26 [3000mSC(91.4cm) (9:07.26

16 U205 F3000mSC(91.4cm) |{FiE BB A6 H1) AMERKERE 18R E#23|3000mSC(91.4cm) [9:10.06 [3000mSC(91.4cm) [9:10.06

17|U208F3000mSC(91.4cm) |K#T & *LT TAIY s [i]=} E#%2[3000mSC(91.4cm) [9:10.97  |3000mSC(91.40m) [9:10.97

18 (U205 F3000mSC(91.4cm) |¥EHE HiE A4/9% Yayk hRAPRS F5 E#23|3000mSC(91.4cm) |9:12.43  [3000mSC(91.4cm) (9:12.43

19|U205F3000mSC(91.4cm) | ERAL *H Vaotq HEm KR H1%3|2000mSC(91.4cm) |6:14.22  [3000mSC(91.4cm) (9:44.62  |4=F"ybFun' =4t HIBAT]
1|U20BFE= B hit &EF FTHhLS 743 peldtrt PN B3| EE Bk 2.18 EmB 2.18

2|U208 7= Bk AR FR ZENT N RN FEL K2 [EEB 2.15 =B 2.15

3|U20B F =B Bl W% 4 Iy BAKEX EH K2 | BB 213 EE 213

4|U20 B FES B AHF BEA A4 INILE EaXx £E K2 | EE Bk 212 B 2.12

5|u20B FEEBE K R VEX LA HEFES R w2 | EE B 2.10 EmEB 2.10

6|u20B FE=BE HE X 2=HF¥ 194 BAX FiE RE#1 | EEB 2.10 EE B 2.10

T|U205 FERBE FRE 0% AFH% a4 [:ES=FN all KR EEB 2.10 EmEB 2.12

8|U20B FERBE it ok VY 54T [ 301=PN FiE R#1 | EEB 2.10 =B 2.10

9|U205 FERBE R %E J5FR YaoA EE—5 (i) a2 | Em B 2.10 EmEB 2.10

10|U20 B FE=BE KR EX FuN aE 4 POEZRER FI R#1 | EEB 2.09 EE% 2.09

11 U208 FE= B Bt B 204 299y ERAKEX S K21 EEB 2,09 EE= 2.1

12 (U208 73 Bk R KW HHNT 9% E3:-PN Wi R | EE B 2.09 EE B 2.09

13| U208 F =Bk Ik R IR vy [EES-PN I KF2EEB 2.08 =Bk 2.10 G- ybun =5 HIBAR A
14|U20B FE= B i AR SYHYF JU% HESE = mEa EEM 2,07 =B 2,07 4=y run =5 BT E]
15|U208 7= Bk 2 Bl R haed L] RR ke | EEH% 2,07 EE Bk 2,07 G- ybun =4 HIB AR A
1|U20B FHEm Bk FE EH A4/9T FHv BRI S S RS 5.31 A 5.31

2|U205 FHEmE BE &0 B3} B=GF h4t PR B KREF (HEB 5.31 EEB 5.31

3|U20 B FHEE Bk AR KE AXF avA BEX #E R | BEk 5.25 EE B 5.25

4|U205 FHE= BE Ezo A3 ao% Yok HURK = K| BBk 5.15 BB 5.15

5|U20 B FH =Bk RE ALk AJE= 1%y IFIH =R ke (HEk 5.02 A B 5.02

6|u20B FHEEBE X% BH—- X/ UAF IERER F K2 | Eapk 5.02 HEEB 5.10

7|U208 7 Bk RO SAREA NZTF ooy |([EREX #E K2 | m ik 5.00 EE B 5.10

8|U205 T BE g = TEFN U5 BETEFRER KB KR | BBk 5.00 EEB 5.00

9|U20 B FHE = Bk HiE B BhNY EF BEX #E R | BE ik 5.00 EE B 5.02

1|U205 FEMER BiE A BHANY €Y EBIXSE N B3| EEBE 7.70 FENEBE 7.70

2|U208 FEIEBE Bl &L FINAT Y [-ESPN #hE K21 | EMERE 7.67 FEMRR 767

3|U203 FENERE TEB A VFY AU HURK B K| EMERE 7.65 FENREE 7.73

4|U208 FEIEBE %k K& b HARY tEERE JtiEE | S| R 7.63 MR 7.63

5|U20% FiENERE 5 BA FIUT FXY BAFEEKR (] K| FETRBE 7.58 ENEEE 7.58

6 (U205 FEIEBE RFHE BERE +AE) T4+ BE—5 Git) A3 R 7.58 MR 7.58

T|u20% FEERE % R *hs o WRAES FE B3| EER 757 ENEBE 7.57

8|U205 FEIEBE iR B2 SYYh Lt BAK R R | ENERE 7.57 MR 757
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A¥ #E BREESR BEEANT i MERFR | 245 | BETHEE |ENREH| HEARNEE |HEARE %
9|U20% FiENERE HE Hit BFh 439 BAX FE K| EEBE 7.56 FENEEE 7.56
10 (U205 FE1EBE B EIR IVE AUY BIFERER KR K21 | ENERE 7.51 FENRBE 7.51
11|U208 FiEiEBE Kk % YYSX o EMEREES i B3 | EER 7.50 FENREE 7.50
12 (U208 F 1B BE WA Eh YITF FAY =& E3] A3 IR 7.49 FENRBE 7.49
13|U203 FiEiE Bk T OER Biros Lok BEtES &8 B3 | EERk 7.49 TR 7.49
14|U205 FE1EBE R8I 18 NEAT A% RE K EE K21 | ENERE 7.46 FENEBE 7.46
15|U20 5 FiEiE Bk v P N avky avi MRS ®H B3| EER 745 FENEE 7.45
16| U205 FEMERE EE LA THIT B4k ERREX B K1 | ENERE 7.44 FENEBE 7.44
17|U208 FiEiE Bk IMNE BK *5 vavs [:ES=-PN P& K| EMERE 7.44 FENREE 7.44
18|U20 5 FFEMRRE S YRA ETHY P E R Ell K21 | FEIRRE 7.43 3t 7.43 4=h"ybron =5 BT E]
19| U205 FEERk WA RS IER Yany BREX EE K1 | FEIRRE 7.43 FENEBE 7.54 = ybrun =5t G A]
20 |U20 FEMRERE W EA DILS Y3oE PN KR K2 | EIRBE 7.20 et 7.55 4=y run =5 BT E]
1|U2058 F = BBk "k X Ik FART timEReE timE |SR3| BB 15.68 ZERBE 15.68
2|U20B F =Bk L HE /9T Hhy EHrEE &L RS | SRk 15.56 ZERBE 15.56
3|U205 F = Bk WHE Bt DVR AL [EESCPN ] K2 | =Bk 15.54 ZEBBE 15.54
4|U208 F =Bk IR $R aYh LAH mEE )T F Bk | Rk 15.49 ZEBE 15.49
5|U20B F= Bk R EH Bu/ Yh FURK 5F KRE| =Bk 15.43 =Rk 15.43
6|U208 F =k A NS FTHhLS hEF BIFER KR KRET | = BBk 15.33 ZEBE 15.33
7|U205 F = BBk RE —1% FHE HRF - AR B2 | BBk 15.30 ZEBE 15.30
8|U20B F = Bk chigs #3 FThHhYF hAh UhRKRK KR KT =Bk 15.29 ZERBE 15.29
9|U205 F = BBk KiF &3} A4EY a9k BINEES tiEE |SR3| =B’k 15.21 ZERBE 15.21
10|U205 F = Bk e FE g YR REXHE AR ERS| ZEH 15.18 =24 15.18
11|U205 F = BBk AF BX *E IT4% BAGKEXR BE K| ZERBE 15.15 ZERBL 15.15
12| U205 F = Bk Wz gE YF¥YT EEX ERZE MR | B3| Sk 15.12 =243 15.12 FrotL
13|U205 F = BBk il ES Javv v Wit RE [11}:3 B3| BBk 15.11 ZERBE 15.11
14|U205 F = Bk I IRAER hoHE a4y BAK HR RE1 | =Bk 15.11 =24 15.11
15|U208 7 = Bk =i KH SYYE 297 +BEE B B3| S BB 1500  |=ExBk 15.09
16|U205 F = Bk K#HE FA FAHUE vagh  |([EREX i KT =Bk 15.03 ZERBE 15.21
17|U208 F = &k ‘B k& VLT ¥ #HEBE [T B3 | = BBk 15.02 BBk 15.02 2y 15
18|U205 F = Bk R WS TEFN rA L PN Ead RET | =EERE 15.02 =243 15.02 4=y o =45 BT E]
19|U205 7 = Bk Il B BHT TARYT BXIEE AR ik | S BBk 1495  [=BBk 14.95 4= yMun =4 IR
20(U20BF = BBk KA Bilg SZX9F A [-ES<PN KR RET | = BBk 14.93 =243 15.17 4="ybron =5 BT E]
21 |U20BF = Bk RE MK 77/ YAk HRK AR K| BB 14.91 =:33 14.91 G- obun =4 B A
22|U20BF = BBk B —H TEF hX= RHMERS AR w2 | =B 14.90 =243 14.90 4=ybron =5 BT E]
23|U20BF = Bk Bk WE hFH A IBPAREE L B3 | ZERBk 1489  [=BBk 14.89 4= yMron =4 BB
24|U20BF = BBk £k HE Hho oy E3%S E3 RET | =Bk 14.89 =243 14.89 4=y o =45 BT E]
25|U20 B F = BxRk TE I8 ASAUPES ERE &5 3 | BBk 14.88 ZERBE 14.88 A=lybFun' =54 MG AR a]
26 (U208 F = BBk JIoT40 T— JIoT40 T— SEITES FHE B3| BBk 14.87 =243 14.87 4="ybron =5 BT E]
1|U20 B FHaA$%(6.000kg) | KIE BB *TAHF 5h3 World Rotation dtiEiE |2 |faAi%6.000kg) |18.08 Fa145(6.000kg) 18.08
2|U20 B FHRIALIX(6.000kg) |RE S& FUB B+ E¥: 2N WEN | K21 |FaAIR(6.000ks)  |17.48 FaAALI%(6.000kg)  [17.48
3|U20B FRaALI%(6.000kg) |FRIE IBIK ThHhHT A EHrEE FELL S8 | A (6.000kg)  |17.40 Fa#1.4%(6.000kg) 17.40
4|{U203 FRAANLI%(6.000ke) |REA HE—BA RFEL AV/FOY (HEX #hE KEF1|FaALI%(6.000kg)  [17.24 Fa#1.4%(6.000kg) 17.24
5|U203 FRafLi%(6.000kg)  |/NAT B *HT Jay s RE 3| Fa AL 1%(6.000kg)  |16.65 Fa4L15(6.000kg) 16.65
6|U208 FHIAI%(6.000kg) |EF BLT S FRERBILKX (38 K1 |FaALI%(6.000ke) |16.54 Fa#1.4%(6.000kg) 17.53
T|U20B FRafLi%(6.000kg) |EF BF amy avzA BARAS BE EiR2 |FaAL#%(6.000kg)  [16.32 Fa#1.4%(6.000kg) 16.32
8|U20 B FHaALIX(6.000kg) | FHB HEH Ik TUF £E 3| BALIR(6.000kg)  |16.24  [FANLIX(6.000kg)  |16.24
9|U208 FRAAI%(6.000kg) |1EE £ T3 HPav RER k2 [FaALI(6.000kg) (1624  |FAALIR(6.000ke)  [16.24
10|U20 3 FHa#1%(6.000kg) AT &S TIT NILIT = B3| FaA$%(6.000kg)  |16.16 Fa#1.4%(6.000kg) 16.16
11|U208 FRaA1%(6.000kg) | E)II {25 ROHT LavRy I3 B2 | B 1%(6.000kg)  |16.15 FaAALI%(6.000kg)  [16.15
12|U208 FHaA1%(6.000kg) |EF ik R/ MEY wE—5 #E B2 | B i%(6.000kg)  |16.00  [FAALIX(6.000kg)  |16.00
13|U208 FRaAI%(6.000kg) | KIEE &4 TAH Y TOREER FE K1 (FaFLI(6.000kg) (1594  |FaAIR(6.000ke)  [15.94
14|U208 FRaAIH(6.000kg)  [#8K BEA TYEL TXb BAKX FiE K1 |F2AL#%(6.000kg)  [15.86 FaAL#%(6.000kg)  [15.86 A= ybrun—4b ISR T
1|U20 B FAHEH(1.750kg) |AE —H B9 Ak BAKX EiE K1 |MAEH(1.750kg)  |54.85 M#&#%(1.750kg)  |54.85
2|U208 FAHEH(1.750kg) |H HZE FXT LY mER = 3| MAE1%(1.750kg)  |52.63 FI#84%(1.750kg)  [52.63
3|U20B FHHR(1.750ke) | B —1F 17t hXF PR B KE1|F8HE(1.750k)  |51.77 M (1.750kg)  |51.77
4|U208 FAEEH(1.750kg)  |1BE HEE J93% h¥ar BREE RER =2 |PAE1%(1.750kg)  |51.28 FI88#%(1.750kg)  [51.28
5|U20B FH#%(1.750ke) | BK KiE A7HH 84% BARGKER N K2 |MHE%(1.750kg) 5043 M#&#%(1.750kg)  |50.43
6|U208 FAAE1H(1.750kg) |HAH = gFh Yav BAKBEXR i K1 |F8EH%(1.750kg)  |50.28 FI884#%(1.750kg)  [50.28
T|U20B FH#%(1.750ke)  |BA KE AN FAF E= 2 S8 | A& (1.750kg)  |50.10 M#&#%(1.750kg)  |50.10
8|U203 FHIAI%(1.750ke) | RFH ExFN *+9% 3+ BAGKEX PR K1 |8 (1.750kg)  |50.07 F##%(1.750kg)  |50.07
9|U20B FH#R(1.750kg) |TEE HiNE NIE LE EREMS BRE |E3|MH#&%(1.750kg)  |49.80 MA&#%(1.750kg)  |49.80
10|U20 8 A% (1.750kg)  |EERR Hhik HAbY AXF Rk H K1 | 8% (1.750kg)  |49.76 FM#&#%(1.750kg)  |49.76
11|U208 FA#1%(1.750kg) | KiE BB *TAHF 5h3 World Rotation diEiE | E5k2|AER(1.750ke)  |49.34 A& (1.750kg)  |49.34
12|U208 FAHE1%(1.750kg)  |HEE WE EfY vauw e E )T E 3| AAE1R(1.750kg)  |49.28 FI#2#%(1.750kg)  [49.28
13|U2038 FA#&#%(1.750ke)  |ARER IEMI Nk BT TEE= R B3| A% (1.750kg)  |49.25 M#&#%(1.750kg)  |49.25
14|U208 FF81%(1.750kg)  |ED A TEFR avi BAFEKX K5 K21 |FSE(1.750k)  [48.63  |FIHEIR(1.750ke)  |48.63 4= ybun =5t HIB R A
15|U205 FH#%(1.750kg)  |TBA HFE 1% E+4 BRI ESy SN KI5 K2 |MARIE(1.750kg) (4831 FI#81%(1.750ke)  [48.31 4= yMrun =4 BB
1 U208 F/\ov—1%(6.000ke) [BK BEEA FURK BH K1 (71> Y—1%(6.000ke) | 66.60 7\ 7 —45%(6.000kg) |66.60
2|U208 F/\> v —1%(6.000kg) |;EK EXK | RE B3|/ \2 v —$%(6.000ke) |64.90 7\ 7 —1%(6.000kg) |64.90
3|U208 F/\ o7 —1%(6.000kg) |4t FIK *5 Lavs RES R B3 /12T —1%(6.000ke) [64.76 7\ —3%(6.000kg) |64.76
4{U208 F/\> v —1%(6.000kg) | AR BEE RZXF RN [:ES=¥N FE KE1 |\ 7 —$%(6.000ke) |64.57 7\ T —1%(6.000kg) |64.57
5|U208 F/\o v —1%(6.000kg) | i BEH EESE AV HEFES HE B3 /127 —1%(6.000ke) 64.38 7\ —3%(6.000kg) |64.38
6|U205F/\o v —1%(6.000ke) | EHE BEX BHANY Favi PR E: 3N N K1 |71\ T —18(6.000kg) |64.33 |7\ —1%(6.000ke) |64.46
7|U208 F/ o7 —1$%(6.000kg) | )1l EH HhBEAT EAk KIRAEEKX dbisE | K1 |/ o7 —1%(6.000kg) [63.37 7\ —3%(6.000kg) |63.37
8|U208 F/\> v —1%(6.000kg) |#1 8 &3} LFYT 2k RBEAKRSE |(R& B3|/ \2 ¥ —$%(6.000ke) |62.55 7\ T —1%(6.000kg) |62.55
9|U208 F/\>v—1%(6.000ke) |iHAE IEIA IVRY any ERHEX dtimE | K%1|/\><—1%(6.000kg) |62.00 7\ 7 —4%(6.000kg) |62.00
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A¥ #E BREESR BREANT i MERFR | 245 | BETHEE |ENREH| HEARNEE |HEARE 1%
10|U208 F/\ov—#%(6.000kg) |FF O JTF Ux RiBEX #WEN | K1 |/ 7—1%(6.000ke) |61.95 7\ T —1%(6.000kg) |61.95
11|U208 F/\ov—1%(6.000ke) |7 B 1€ T4+ I BT K EH K1 |/ —1%(6.000kg) |61.92 7\ T—4%(6.000kg) |61.92
12|U208 F/\> 7 —1%(6.000kg) |LLIE 23+ Y& Frk #HE EE B2 [/ 27 —1%(6.000kg) |61.78 7\ —1%(6.000ke) (61.78
13|U208 F/\ov—3%(6.000ke) |FRIE 423} AFN AUk ARTRES 3 B3|/ \2 ¥ —1%(6.000ke) |61.62 1\ —4%(6.000kg) 61.62
14|U20BF/ X —1(6.000ke) [RZE M TEF THIL Hawk =13 7\ T—4%(6.000kg) 61.32 N7 —4%(6.000kg) |61.32 4=y run =45t BB F
15|U208 F/\v—3%(6.000ke) | A% il woH LYY BAFHEXR Rk KE1 [ 7/\>7—1%(6.000kg) |61.22 7\ 7 —35%(6.000kg) |61.22 A=y =5t HIBA A
16 U208 F/\> v —1%(6.000kg) | KB 2B AR5 YVIRY [[:E3:5N FE K1 | /17 —1%(6.000kg) |61.14 7\ 7 —4%(6.000kg) |64.32 4=y run =45t BB F
17|U208 F/\ov—1%(6.000ke) |#A & AX¥ PUF REH B B3| /1> ¥ —1%(6.000kg) | 61.02 1\ ¥—4%(6.000kg) |61.02 4=l'ybron =5 BT E]
18|U208 F/ o7 —1%(6.000kg) |fHEH A T¥E AR BEHE 2450 B3|/ 1\ 7 —1%(6.000kg) | 60.61 7\ 7 —4%(6.000kg) |60.61 4=y run =45} BB F
19|U208 F/ v —1%(6.000kg) |14 JEE AF8% YUY ] FFL | B3|/ 1> 7 —1%(6.000ke) |60.55 7\ Y —4%(6.000kg) |60.55 A=y un =4} ISR A
20|U205F/ > v —1%(6.000ke) |FERE fEHE HArY 29H FRE = #HEE B3|/ 1\ 7 —1%(6.000kg) | 60.51 /N7 —4%(6.000kg) |60.51 4=y run =45t BB F
1|U205 F+°U #%(800g) ER BER /NG NILE IR win K2 |4Y1%(800g) 69.51 Y $%(800g) 69.51
2|U205 F 451 $%(800g) KE AHVh Fo¥ KFEI® 3] B3| 101 1%(800g) 69.38 +51)1%(800g) 69.38
3|U205 F4°1)$%(800g) FeE Bk THItX avIA ERRREX B KE1 %Y 12(800g) 69.31 +)$%(800g) 69.31
4|U205 F 401 $%(800g) AR BT AXF AoiAay hRA I B K1 | 01Y1%(800g) 68.27 Y 1%(800g) 68.27
5[U208 F 41 $%(800g) ER LAY 179h LAY EY=)-> X1 25 B3 151 $2(800g) 67.87 +51)$%(800g) 67.87
6[U205 F+°1)#%(800g) WA 3 IYIE Lagk X = REF1 [ +YU$(800g) 66.04 +51)1%(800g) 66.04
7{U208 F %1 $%(800g) BR B SH¥ 748 EBE® N B3| %01 $%(800g) 65.69 41 $5%(800g) 65.69
8|U203 T+ %(800g) KiE Fth AAVH Javv BHETES (i) B3| 101 1%(800g) 65.51 5 1%(800g) 65.51
9|U203 F4>U#%(800g) RHE 1= ERt av¥Ioy  [BAKEX B’R K2 %Y 1%(800g) 65.32 +$5%(800g) 65.32
10{U205 F 451 $%(800g) B0 EE BYF TABY EERAEXR Rk K1 [$Y1%(800g) 64.91 41 $%(800g) 64.91
11{U208 741 $(800g) TR B= BIT9F roJ I BB K I K1 [40Y12(800g) 64.80 +>$5%(800g) 64.80
12|U205 F 454 $%(800g) % FAF x5/ )ox PN = KH2| 401 1%(800g) 64.53 +51)1%(800g) 64.53
1|U20% F100m A D A¥ES =Y HEX F3E K#1(100m 11.51 100m 11.51
2|U20&ZF100m g DE Y3¥F 337 BINEES demE  |E#3[100m 11.54 100m 11.54
3|U20%F100m A HeF A2FEL Y2 EHP Fl Ll &#2|100m 11.59 100m 11.59
4{U20ZF100m FE# b AHhvy H% BHES a5 =#3|100m 11.65 100m 11.65
5(U20% F100m it mATF 704 Fva BEEZX R KZ1[100m 11.68 100m 11.68
6|U20%ZF100m BB Dr=J7—EE (Y48 Dx=77—)3 [BEX RER KE2(100m 11.69 100m 11.69
7|U20% F100m FE# FEK Fhinvy a4 EHES = &#1]100m 11.72 100m 11.72
8|U20%F100m =t HiE 37 LFx PRAPRS ZH E#3|100m 11.76 100m 11.76
9(U20% F100m KR BETE FNT T IR 5 KZ1(100m 11.77 100m 11.77
10|{U20ZF100m EEX= Uit VEVE =] BRIS REAR =#3(100m 11.79 100m 11.79
11[U20% F100m wiE Ex BHNY AT RER Ll &#3|100m 11.80 100m 11.80
12|U20ZF100m HR HE HFJT RXF BETES [ E#3(100m 11.82 100m 11.82
13|U20% F100m B BR 4= TAF EEPES £E E1%3]|100m 11.82 100m 11.82
14|{U20ZF100m BR T IV935 4935 ROWHES b &E#3(100m 11.83 100m 11.83
15|U20% F100m WA B YhES THER HRAPRS B &#3|100m 11.83 100m 11.83
16|U20ZF100m AN A% oo 4 PRAFRE B E#1(100m 11.84 100m 11.84
17|U20% F100m KAl BED *A3T EF/ REES R &3 [100m 11.85 100m 11.85
18|U20ZF100m Lig %% JIUR =AY RS I E#3|100m 11.86 100m 11.86
19|U20% F100m e —% Tt AFN HRRPRES B &#2|100m 11.86 100m 11.86
20|U20%&F100m ki FHAH VY HES BiR H#%3|100m 11.86 100m 11.86
21|U20%F100m HE T L YR TYT L HEE MR |E#3]|100m 11.87 100m 11.87
22|U20% F100m FE RH% FIN FoTa 1PN = KE1{100m 11.87 100m 11.67
23|U20%F100m [ Fil v/ a3 RIRAEER (] K#1{100m 11.87 100m 11.87
24|U20% F100m Nty FI—)L Nty TI—L MLt FE &#1]100m 11.88 100m 11.88
25|U20%& F100m s BE TIIF /N RigFEX B KZ1[100m 11.89 100m 11.89
26|U20% F100m BR 23 IVI35 48N EHE PN E#3(100m 11.89 100m 11.89
27|U20% F100m fEE 2 *hHE =R SRR B KZ1(100m 11.89 100m 11.81
28|U20% F100m KiE BRI *AVh EEH IBPIAmEE (] =#%3|100m 11.90 100m 11.90
29|U20% F100m ri)— BABLTE 7)— TUh BREE RER E1%3]100m 11.90 100m 11.90
30|U20% F100m AH AR ay/ af EER EiE &#3]100m 11.90 100m 11.90
31|U20%F100m I D YRy 23an aEE MR |E#3]|100m 11.90 100m 11.90
32|U20% F100m WE 155H I FILE KORAS b E#2(100m 11.90 100m 11.90
33|U20%& F100m Il A YT EAN REES AR X1 [100m 11.90 100m 11.90
34|U20% F100m B AR NUES 3F gEALYCE  |RR &E#2|100m 11.90 100m 11.90
35|U20%& F100m 2RH #£% EFYF ¥ REXBRS MR |E#R2]|100m 11.90 100m 11.90
36|U20% F100m i W% rY¥F EQY HBEAME  |FB 1 [100m 11.91 100m 11.91 4= yMun =4 BT
37|U20% F100m At R FhLS T EARER % &2 [100m 11.91 100m 11.91 4=l'ybron =5 BT E]
38|U20%F100m BA BEF OTER A3 FHBER N K%1]100m 11.91 100m 11.82 4=y run =45 BB F
39|U20% F100m BA AE NUER £F EHFEA B K#1(100m 11.92 100m 11.86 4= ybun =4t HIB R A]
40{U20%&F100m =8 =3 =l 29 BOEXE N E#%1]100m 11.93 100m 11.57 =" yMrun =4 IR
41|U20% F100m aH EE IVLT NTH LEEES 8] E#%3 [100m 11.93 100m 11.93 4=y o =45 BT E]
42|U20% F100m # 8hAn R LA+ SCDAC #E) | E#3]|100m 11.93 100m 11.93 4= yMon =4 BT
43|U20% F100m a0 BE LA=5F ¥+ KERAEEX Bs K2 (100m 11.93 100m 11.93 4= ybun =5t HIB R A
44|U20%F100m MM BRHT R = =] BEKX B3] K#1(100m 11.94 100m 11.94 4=y run =45 BB F
45|U20% F100m 5 BAE 134 Th* EaxE BE E4%3 [100m 11.94 100m 11.94 4=yhron =5 BT E]
46|U20ZF100m Bl £E ShYF AT PRARRE  |EBA &2 [100m 11.94  [100m 11.94 G- obun=5h B A]
47|U20% F100m =8 XMW Saters RREFHREKR (BE K1 [100m 11.94 100m 11.94 4=y o =45 BT E]
48|U20% F100m =K DB 3% oo/ PR it E#%3[100m 11.94  [100m 11.94 G- obun =5 B A]
49|U20% F100m =8 #£R 37 32 1EFF R R HAR K1 [100m 11.95 100m 11.95 4="ybron =5 BT E]
50 |U20%F100m #a KB hE¥ ay ERED F50 E#%3[100m 11.95 100m 11.95 4=y run =5} BB F
51|U20% F100m BEH LE NBJ AL itiEE deiEiE | &3 [100m 11.96 100m 11.96 4= ybun =4t HIB R A]
52|U20% F100m FEF AR =VEY a4y BLEE B B3 [100m 11.96 100m 11.96 4= yMun =4 HIHTRE]
53|U20%& F100m #HA BB AXFx FF BEERS FE L &#23|100m 11.96 100m 11.96 4=y ron =45 BT E]
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A¥ #E BREA BREANT iR MERFR | 245 | BETHEE |ENREH| HEARNEE |HEARE 1%
54|U20% F100m sk VFEY ENS M ==d)] HEXES R &1 [100m 11.97 100m 11.97 G- ybun =5 HIB AR A
55|U20%F100m WA RS NIIF NILFE FREREUKR (B K#1(100m 11.97 100m 11.97 4=l'ybron =5 BT E]
56|U20%& F100m Fik BE Ak 217 TLintEE FE &#%2|100m 11.98 100m 11.98 A=lybFun' =54 G AR a]
57|U20%& F100m hEE #@ Fh=> ET/ AMERXAE |ER &3 [100m 11.99 100m 11.99 4="ybron =5 BT E]
58(U20%&F100m EE MR VE R/ RAEE RE = #1]100m 11.99 100m 11.99 A=y =5 HIBA ]
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13|U20%Z F5000m BF #K A/h5 a4 i B &E#%2(3000m 9:07.16  {5000m
14|U20% F5000m RN Fax AAHT FFH= EIEAITE = FAL | E4R3|3000m 9:09.68 |5000m
15 |U20% F5000m AR BER HILT A ERLEhRs KB H#%3|3000m 9:19.66 |5000m
16 |U20% F5000m % DA BFINF I WEEXS B &2 3000m 9:26.41  |5000m 16:45.17
17|U20%Z F5000m SH BN 1<4 LS RERS ®H &E#%2(3000m 9:27.36  |5000m
18 |U20% F5000m s e ThYF EE hAMBEES |#) [&53[3000m 9:28.13  |5000m
19|U20%Z F5000m FiE BR A+ FF= [ R &3 (3000m 9:29.86 |5000m

1|U20% F100mH(83.8cm 8.5m) |{EM TE&E 795 N BI=& EE B 1|100mH(83.8cm_8.5m) |13.42 100mH(83.8cm_8.5m) |13.42
2|U20% F100mH(83.8cm 8.5m) |&H K% R=FHh Fh BRAKX x5 K1 [100mH(83.8¢cm 8.5m) [13.55 100mH(83.8cm_8.5m) [13.42
3|U20% F100mH(83.8cm 8.5m) |#AE BE IVE Tt BfEEX R K1 [100mH(83.8cm 8.5m) |13.56 100mH(83.8cm_8.5m) |13.38
4|U20% F100mH(83.8cm 8.5m) | —fEE 1% —hAEY 4% WFESE BE E#%2|100mH(83.8cm_8.5m) |13.59 100mH(83.8cm_8.5m) [13.59
5|U20% F100mH(83.8cm 8.5m) (=47 ER 3Y R3h 2)5 B %3 [100mH(83.8cm 8.5m) |13.63 100mH(83.8cm_8.5m) [13.63
6|U20% F100mH(83.8cm 8.5m) |BIFT #Kp ARydz 32 21PN BiR K1]/100mH(83.8cm_8.5m) |13.63 100mH(83.8cm_8.5m) [13.63
7|U20% F100mH(83.8cm 8.5m) |IRE RE HhE Yo EAPEEES [TX B #%3 | 100mH(83.8cm_8.5m) |13.63 100mH(83.8cm_8.5m) |13.63
8|u20% F100mH(83.8cm 8.5m) |BR HZ Hh <3k EARER R &#5%2 | 100mH(83.8cm_8.5m) |13.64 100mH(83.8cm_8.5m) |13.64
9|U20% F100mH(83.8cm 8.5m) |EEHT IZDE =V LT RN AP #hE K1 [100mH(83.8cm 8.5m) |13.69 100mH(83.8cm_8.5m) |13.69
10|U20% F100mH(83.8cm 8.5m) | FEH A4 FFrY RELZES 126 =152 |100mH(83.8cm_8.5m) [13.71 100mH(83.8cm_8.5m) [13.71
11|U20& F100mH(83.8cm 8.5m) [FHk B IVFH A RBRAKRES |RE& %2 [100mH(83.8cm 8.5m) |13.74 100mH(83.8cm_8.5m) [13.74
12|U20% F100mH(83.8cm 8.5m) | REL 3 *F+Y £F BRA FElLL K221{100mH(83.8cm 8.5m) |13.74 100mH(83.8cm_8.5m) |13.63
13[U20%& F100mH(83.8cm 85m) [{IO ¥ IJF SLA FBRERE #3)Il  |E#%k2|100mH(83.80m 8.5m) |13.74 100mH(83.8cm_8.5m) (13.74
14|U20% F100mH(83.8cm_8.5m) |E#E &% AhNny A7 HIIMES FE =43 |100mH(83.8cm_8.5m) [13.76 100mH(83.8cm_8.5m) [13.76
15|U20% F100mH(83.8cm 8.5m) |fNfk ZE# Hb SHE REXBARS =) |E&#k3|100mH(83.8cm 8.5m) |13.76 100mH(83.8cm_8.5m) |13.76
16|U20% F100mH(83.8cm_8.5m) [#1& WHH BRY a3 HDBE LE E#%3|100mH(83.8cm_8.5m) |13.78 100mH(83.8cm_8.5m) [13.78
17|U20%F100mH(83.8cm 8.5m) |k BE Hho Lh TH=® E/3 B#%3 | 100mH(83.8cm_8.5m) |13.78 100mH(83.8cm_8.5m) |13.78
18|U20%& F100mH(83.8cm 8.5m) |8 &% NE A BARGKER W) [K%1]100mH(83.8cm 8.5m) [13.78 100mH(83.8cm_8.5m) |13.78
19|U20%& F100mH(83.8cm 8.5m) (I§eh IME URFHh 2y HES W) [FEH1|100mH(83.8cm 8.5m) [13.78 100mH(83.8cm_8.5m) [13.78
20|U20% F100mH(83.8cm 8.5m) |#E K& HhIJ/ 22 BEX B K221 {100mH(83.8cm_8.5m) |13.80 100mH(83.8cm_8.5m) |13.80
21|U20% F100mH(83.8cm 85m) (A% + woE FY EEPE B B3 | 100mH(83.8cm_8.5m) |13.80 100mH(83.8cm_8.5m) |13.80
22|U20% F100mH(83.8cm 8.5m) |[EIE #bF1 *hE H0 s gt W) [E#1|100mH(83.8cm 8.5m) [13.82 100mH(83.8cm_8.5m) |13.82
23|U20% F100mH(83.8cm 8.5m) |#kE FE /4 FHh IR N K1 [100mH(83.8cm 8.5m) |13.84 100mH(83.8cm_8.5m) |13.84
24|U20%Z F100mH(83.8cm 8.5m) |EE UMY = =F- ;] HRE "R =#%2100mH(83.8cm_8.5m) |13.84 100mH(83.8cm_8.5m) [13.84
25[U20% F100mH(83.8cm 85m) |BH #HE hS5RHE 723 BRMAIK wa K%1]100mH(83.8cm_8.5m) |13.84 100mH(83.8cm_8.5m) [13.84
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A #E BREESR BEEANT i MERFR | 245 | BETHEE |ENREH| HEARNEE |HEARE %
26|U20%Z F100mH(83.8cm 8.5m) |fBE 1y #iv4 aan LEBEES LS E#3 [ 100mH(83.8cm 8.5m) [13.89 100mH(83.8cm_8.5m) [13.89
27|U20% F100mH(83.8cm 85m) |&FH EH 934 47 FRUBHES = B2 | 100mH(83.8cm_8.5m) |13.89 100mH(83.8cm 8.5m) |13.89
28|U20%& F100mH(83.8cm_8.5m) |fNEE 3K Hky 24 BHEBXEMS WwA =481 |100mH(83.8cm_8.5m) [13.91 100mH(83.8cm_8.5m) [13.91
29[U20% F100mH(83.8cm 8.5m) |HH EA TRE AVF BAKER = K%1|100mH(83.8cm 8.5m) [13.91 100mH(83.8cm_8.5m) [13.80
30|U20% F100mH(83.8cm 8.5m) |dfik FEE FI¥ 7YH EARES £H E#:3|100mH(83.8cm 8.5m) [13.92 100mH(83.8cm_8.5m) [13.92
31|U20% F100mH(83.8cm 8.5m) |FEIE 3=l THhYF IHF RS B 153 |100mH(83.8cm 8.5m) |13.93 100mH(83.8cm 8.5m) |13.93
32|U20% F100mH(83.8cm 8.5m) [/ FEF] ax 74 Bld acal Al E#5%3 | 100mH(83.8cm_8.5m) |13.94 100mH(83.8cm 8.5m) |13.94 A= ybrun =4t IS AT
33|U20% F100mH(83.8cm 8.5m) |E& K S3x¥Y 24 S aEEEE dbi#EiE | E4K2 [100mH(83.8cm 8.5m) (13.96 100mH(83.8cm_8.5m) |13.96 4=l'ybron =5 BT E]
34|U20% F100mH(83.8cm 8.5m) [##1L RIE Javrw RXN FEKR #5 K221 |100mH(83.8cm_8.5m) [13.97 100mH(83.8cm_8.5m) |13.42 A=y =4t IS AT
35|U20% F100mH(83.8cm 8.5m) |HFt £Z SLT S8 BIEES dti#EiE | #4582 [100mH(83.8cm 8.5m) [14.00 100mH(83.8cm_8.5m) (14.00 A=y =5t HIBA A
36|U20% F100mH(83.8cm 8.5m) |45 &% DAY AT HEFES HE E#5%3 | 100mH(83.8cm_8.5m) |14.00 100mH(83.8cm_8.5m) |14.00 A=y =4t IS AT
37|U20% F100mH(83.8cm 8.5m) |5tFE FHE 4TI/ FnIL REES AR 152 |100mH(83.8cm 8.5m) |14.00  [100mH(83.8cm_8.5m) |14.00 A=hyhrun =4} ISR A
38|U20% F100mH(83.8cm 85m) [l Hi2E VYT VUh RRED 2 E#5%3 [ 100mH(83.8cm_8.5m) |14.01 100mH(83.8cm 8.5m) |14.01 A= ybun =4t IS AT
39|U20% F100mH(83.8cm 8.5m) |flA HE *hES 71 FEE B 153 100mH(83.8cm 8.5m) |14.01 100mH(83.8cm 8.5m) |14.01 A=y run —4) HIHR A
40|U20% F100mH(83.8cm 8.5m) [IER HZE JFNS ERY A¥hRE FELL B#51 | 100mH(83.8cm_8.5m) |14.02 100mH(83.8cm_8.5m) |14.02 A= ybrun =4t IS AT
41[U20%F100mH(83.8cm 8.5m) |;ZH FIE Y4 1%h LWhEBAR (] #%3 | 100mH(83.8cm 8.5m) |14.04 100mH(83.8cm_8.5m) (14.04 A=y =5t HIBA A
42|U20% F100mH(83.8cm 85m) |EiHE th BHNY LI BERNEFE RR 13| 100mH(83.8cm 8.5m) |14.05 100mH(83.8cm_8.5m) |14.05 4=y run =5} BB F
43|U20% F100mH(83.8cm 85m) [#EEH UMD TYA EF/ BARKER RS K22 [100mH(83.8cm 8.5m) |14.05 100mH(83.8cm_8.5m) |13.66 A=kyhFun' =44 KGR E]
44|U20% F100mH(83.8cm 85m) [EHHE F%& AhE &5 BEREFHRELR [T K21 (100mH(83.80m 8.5m) |14.05 100mH(83.8cm_8.5m) |14.05 A=y =5 HIBA ]
45|U20% F100mH(83.8cm 85m) |EE L\BA aAYET AFh EN=F £E 153 100mH(83.8cm 8.5m) |14.06 100mH(83.8cm_8.5m) |14.06 A=y run —4) HIHR A
46|U20% F100mH(83.8cm 8.5m) [#5:E =il AT 3 [ 30=PN FHE K22 |100mH(83.8cm_8.5m) |14.06 100mH(83.8cm_8.5m) |14.06 A= ybrun' =4t IS AT
47]|U20% F100mH(83.8cm 8.5m) |KIE #EIZHE YUY Hai ZEFES F0 &2 | 100mH(83.8cm_8.5m) |14.09 100mH(83.8cm 8.5m) |14.09 A=y =5t HIBA A
48|U20% F100mH(83.8cm 8.5m) |4£M HifF PZACEE &3 it FE i #%2 | 100mH(83.8cm 8.5m) |14.09 100mH(83.8cm_8.5m) |14.09 4=hyhrun =45} BB F
49|U20% F100mH(83.8cm 85m) |ZERE &HMY YA FHY TGS FE 453 [ 100mH(83.8cm 8.5m) |14.11 100mH(83.8cm_8.5m) |14.11 A=kyhFun' =44 KIS FE]
50 |U20% F100mH(83.80m 8.5m) |38 fCAREY TaFR EFY FRERS Bl 443 (100mH(83.8cm 8.5m) |14.14  |100mH(83.80m 8.5m) |14.14 4= yMun =4 IR
51|U20% F100mH(83.8cm 8.5m) |ith EZE 17 DS +BES #in 423 | 100mH(83.8cm 8.5m) [14.17 100mH(83.8cm _8.5m) |14.17 4=l"ybrun =5 BT E]
52|U20% F100mH(83.8cm 8.5m) (RH#E ZiK <t hFn hRARRS B5 E#5%2 | 100mH(83.8cm_8.5m) [14.17 100mH(83.8cm 8.5m) |14.17 A= ybrun' =4t IS AT
53|U20% F100mH(83.8cm 8.5m) |[R HEE INT T9H EEPE £E E4%1 100mH(83.8cm 8.5m) [14.18 100mH(83.8cm_8.5m) |14.18 4="ybrun =5 BT E]
1[U20% F400mH(76.2cm 35.0m) | Ah¥* £F ZilE H E#%3 [400mH(76.2cm_35.0m) |58.95 400mH(76.2cm_35.0m) |58.95
2|U20% F400mH(76.2cm_35.0m) [FTF &LV BIrOF A zZilE W %3 [400mH(76.2cm_35.0m) |59.21 400mH(76.2cm_35.0m) |59.21
3|U20%F400mH(76.2m 35.0m) |BR HZ Hh <ak EARER R E#5%2 | 400mH(76.2cm_35.0m) |59.38 400mH(76.2cm_35.0m) [59.38
4{U20% F400mH(76.20m 35.0m) |&KJIl *XHT HF REES AR 42 [400mH(76.2cm 35.0m) |59.45 400mH(76.2cm_35.0m) |59.45
5[U20%& F400mH(76.2cm 35.0m) |HEH &E v/ 7Y KBRAEER = K21 [400mH(76.2cm_35.0m) |59.45 400mH(76.20m_35.0m) [59.45
6|U20% F400mH(76.2cm 35.0m) |l BH NE aA9FE BAGKEKR MWE) [ KHE1]400mH(76.20m_35.0m) [59.56 400mH(76.2cm_35.0m) |59.56
7{U20% F400mH(76.2cm 35.0m) |#EUE FF° YIST AR Al =R E#523 | 400mH(76.2cm_35.0m) |59.75 400mH(76.2cm_35.0m) [59.75
8|U20% F400mH(76.2cm 35.0m) BT #HE Iy ZX HES W %3 [400mH(76.26m_35.0m) |59.78 400mH(76.2cm 35.0m) |59.78
9|U20% F400mH(76.2cm 35.0m) |JbAT #F FELZ a4 KEE KBR =423 |400mH(76.2cm_35.0m) |59.84 400mH(76.2cm_35.0m) |59.84
10|U20% F400mH(76.2cm 35.0m) (&8 FHR iy ar BES HWH) [FEH3|400mH(76.2cm_35.0m) 59.86 400mH(76.2cm_35.0m) |59.86
11|U20% F400mH(76.2m 35.0m) |43 FEFIE 434 37 PRAPRS F5 B #3 | 400mH(76.20m 35.0m) |1:00.11  [400mH(76.2cm_35.0m) [1:00.11
12|U20% F400mH(76.20m 35.0m) [BRERJII i3E TTEAT 2L i = i E4%3 [400mH(76.26m 35.0m) [1:00.12  |400mH(76.2cm 35.0m) [1:00.12
13|U20% F400mH(76.2cm_35.0m) | ki Ath =H -G 10N} =123 |400mH(76.2cm_35.0m) [1:00.26  |400mH(76.2cm_35.0m) [1:00.26
14|U20% F400mH(76.2cm 35.0m) | EA VL hVF IR KB K1 [400mH(76.2cm_35.0m) [1:00.28  |400mH(76.2cm_35.0m) |59.46
15|U20% F400mH(76.2cm 35.0m) |ILO %EFE YRIF hEk ERAGEES HE & #523|400mH(76.20m_35.0m) |1:00.30  [400mH(76.2cm 35.0m) [1:00.30  |REIEIEESY Hif
16 [U20% F400mH(76.2cm 35.0m) |#5A && ZXF HYr HEEXZHE HA 152 400mH(76.2cm_35.0m) |1:00.52  [400mH(76.2cm_35.0m) [1:00.52
17{U20% F400mH(76.2cm 35.0m) [#AK i Ix TA BEX = K1 [400mH(76.26m_35.0m) |1:00.54  |400mH(76.2cm_35.0m) |59.98
18|U20% F400mH(76.2cm_35.0m) | 5 AFh Tk BEHhRE Fil Ll B #22 | 400mH(76.26m_35.0m) |1:00.57  [400mH(76.2cm_35.0m) [1:00.57
19 |U20%& F400mH(76.2cm_35.0m) |FKIR SEBE N¥DS5 5% A I =453 |400mH(76.2cm_35.0m) [1:00.58  |400mH(76.2cm_35.0m) [1:00.58
20 {U20% F400mH(76.2cm 35.0m) |B O KZR AhTF TLV Bas EIRE  [E#K3|400mH(76.2cm 350m) [1:00.62 |400mH(76.2cm_35.0m) [1:00.62
21|U20%& F400mH(76.2cm_35.0m) | & ZDH INBYT a/3 FUEK JtiEE K1 [400mH(76.2cm_35.0m) |1:00.73 400mH(76.2cm_35.0m) |58.23
22 |U20% F400mH(76.20m 35.0m) |E & kK RFY 35 IHEEEE Jbi#E | B2 [400mH(76.2cm 35.0m) [1:00.82  |400mH(76.2cm_35.0m) |1:00.82
23 [U20% F400mH(76.2cm 35.0m) |JIIE &F HhI% +E3 Baxs BE 43 |400mH(76.26m 35.0m) |1:00.89  [400mH(76.2cm 35.0m) (1:00.89
24|U20% F400mH(76.20m 35.0m) |BA BEE UTER AN RHEEKR K8 K1 [400mH(76.2cm_35.0m) [1:00.97  |400mH(76.2cm_35.0m) |1:00.97  |LROBEIHVHBOEE
25|U20& F400mH(76.2cm 35.0m) |i&F BT TH4 <33 AL HE 1 | 400mH(76.2cm 35.0m) |1:00.98  [400mH(76.2cm 35.0m) [1:00.98  |4—A ybFun =4} Hi1S A A
26|U20%& F400mH(76.20m 35.0m) | ANk FEAE Sk SHE EESN FE K21 |400mH(76.20m_35.0m) |1:01.00  [400mH(76.2cm_35.0m) |59.68 4=l'ybron =5 BT E]
27|U20% F400mH(76.26m 35.0m) |;TE (D I& YR RRFEHNREE (38 153 |400mH(76.26m 35.0m) |1:01.10  [400mH(76.2cm 35.0m) [1:01.10  |4=F"ybFun'—4} HISAT]
28|U20% F400mH(76.2cm 35.0m) (128 KEE 9V NIT EPNPN N K221 |400mH(76.26m_35.0m) |1:01.13  [400mH(76.2cm_35.0m) [59.52 A=l'ybFun' =45} iR A]
29|U20% F400mH(76.20m 35.0m) |/NEAE B TET AV FEFES #E & 13 |400mH(76.2cm 35.0m) |1:01.14  [400mH(76.2cm 35.0m) [1:01.14  |[4=F"ybFun' =4} HIFAT]
1{U20%& F3000mSC(76.2cm) |#IA —FH IIH¥ =Fh =P W) [FEH3|3000mSC(76.2cm) [10:09.36 |3000mSC(76.2cm) [10:09.36
2|U20%&F3000mSC(76.2cm) |YadNFTyy FoF |YadLFrvy ToF |4 AE T & #22|3000mSC(76.2cm) |10:21.90 [3000mSC(76.2cm) [10:21.90
3|U20%& F3000mSC(76.2cm) |BBR ME WISNG aAh RELLIRE KB B #%23|3000mSC(76.2cm) |10:33.30 (3000mSC(76.2cm) [10:30.36
4|U20%Z F3000mSC(76.2cm) |HE # a4y LA ERuEhs KB E#X2|3000mSC(76.2cm) |10:37.81 [3000mSC(76.2cm) [10:37.81
5|U20%& F3000mSC(76.2cm) |BRED HRZ2 AU RiE® PN B #%3|3000mSC(76.2cm) |10:45.06 [3000mSC(76.2cm)  [10:45.06
6{U202F3000mSC(76.2cm) |¥AE ZT Y& aks AR #E) |E#2|3000mSC(76.2cm) |10:51.27 [3000mSC(76.2cm) [10:51.27
7|U20% F3000mSC(76.2cm) |FT# HYE 2 LT TIY T #WE) |H#3|3000mSC(76.2cm) |10:53.20 [3000mSC(76.2cm) [10:53.20
8|U20%Z F3000mSC(76.2cm) | BTH TS AA HED ZE E#23|3000mSC(76.2cm) |10:59.64 [3000mSC(76.2cm) [10:58.00
9|U20%F3000mSC(76.2cm) | Kl & TA¥Y< Yo K= I B #3(3000mSC(76.2cm) |11:00.37 [3000mSC(76.2cm) [11:00.37
10{U20% F3000mSC(76.2cm) | K% FiF FAY )3 HEALFE FE E#1(3000mSC(76.2cm) |11:01.90 [3000mSC(76.2cm) [11:01.90
11|U20% F3000mSC(76.2cm) | T B EYLH IYF A= FE E1%3|3000mSC(76.2cm) |11:06.37 [3000mSC(76.2cm) [11:06.37
12|U20%F3000mSC(76.2cm) |ififk EH avky h/v Jawis BE E#%2|3000mSC(76.2cm) |11:08.18 [3000mSC(76.2cm) [11:08.18
13|U20% F3000mSC(76.2cm) | KA BR +AF 27 WaERES B BE#%2|2000mSC(76.2cm) |6:56.74  [3000mSC(76.2cm) [6:56.74
14|U20Z F3000mSC(76.2cm) |dLiE <5 FEOT HYT EER EiE E#%3|2000mSC(76.2cm) |6:57.79  [3000mSC(76.2cm) |:00.00
15|U20% F3000mSC(76.2cm) |l 3k DEFA AL WaERXS B B #23|2000mSC(76.2cm) |6:58.62  [3000mSC(76.2cm) (6:58.62
16|U20%F3000mSC(76.2cm) |HH FiF Iv4 U3 = =E E#%2|2000mSC(76.2cm) |7:02.84  [3000mSC(76.2cm) [7:02.84
17|U20%F3000mSC(76.2cm) |#F O ER whIF AU ERED BRE |&#2|2000mSC(76.2cm) |7:05.22 [3000mSC(76.2cm) [11:17.92
18|U20% F3000mSC(76.2cm) |ER BE D)5 3% WEEES = E#X3|2000mSC(76.2cm) |7:06.16  [3000mSC(76.2cm) [10:46.95
19|U20% F3000mSC(76.2cm) Rk K yo4h 1A BERS BE H1%2|2000mSC(76.2cm) |7:10.97 [3000mSC(76.2cm) |[11:25.69  |4—F"ybFun' =4t HIBA ]
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9/27-28 £41EIU20 B AR LR ECEF AR @FFMEH Ty hU—YRF (IR) 202559850 (£)F=

A¥ #E BREESR BREANT iR MERFR | 245 | BETHEE |ENREH| HEARNEE |HEARE 1%
20|U20% F3000mSC(76.20m) | YN FYF EEAIE = FFL | E#4%3|2000mSC(76.2cm) |7:15.05 [3000mSC(76.2cm) [11:29.51  |4—F "ybFun'—4% HIHAR A
21|U20%F3000mSC(76.2cm) |BEA V& IVF ERS REB PN H1%3|2000mSC(76.2cm) |7:16.54 [3000mSC(76.2cm) |[11:16.34  |4=F"ybFun' =4t HIZFA ]
22|U20& F3000mSC(76.2cm) |/ME FiF EYAC D= REXFS ik &#%3|2000mSC(76.2cm) |7:18.48 [3000mSC(76.2cm) [11:30.23  |4=F"ybFun' =4} HIFAT]
23|U20% F3000mSC(76.2cm) |AHK FiZEF 40 JF3 FEFED #E H1%3|2000mSC(76.2cm) |7:20.45 [3000mSC(76.2cm) |[11:26.37  |4=F"ybFun' =4t HIBA T
24|U20% F3000mSC(76.20m) |4k $EEA Hry <3 WE=8 =324 E#%2|2000mSC(76.2cm) |7:21.04 |3000mSC(76.2cm) [11:37.58  [4—4"ybFun'—4}, HHISFAT
25|U20% F3000mSC(76.2cm) |#IL B3& Favv b4 HBEn B H1%2|2000mSC(76.2cm) |7:21.59  [3000mSC(76.2cm) (99:99.99  |4—F"ybFun' =4t HIBA AT
26|U20% F3000mSC(76.20m) | FiZ VA U BAEER R K1 (3000m 9:30.95 [3000mSC(76.2cm) [11:31.94  [4—4"ybFun'—4} HISF AT
1|V20% FE & Bk 2H LE 5% aaf INFRIGER FE =3 | Em B 1.74 B 1.74
2|v20x FEEBE 1 RF IXT F2 1EREX BiR K| ESB 1.73 EmB 173
3|U20% 7t Bk AP R RI=Y $93 FIRK Pl | K2 | EEB 1.73 =B 1.74
41020 FER B E B T¥AHh VA £ GSES=Y FE B3| EE Bk 1.72 EmB 1.72
5|U20% 7 Bk FEH BN 75 ank RHHEEKR £E R | EE B 1.72 B 1.72
6|u20xFEEBE FIE HE TR IXY Wk RE Wit =3 | EmBk 1.71 EmEB 1.7
7|20k FES B HE FE af# N BEYES 18R ke |EEk 1.7 B 171
8|20k FER FE BE FIN AT HREFHRER |HR K21 EEB 1.7 EBBE 1.7
9|U20% 7t Bk EH &5 H/ htk REXIEX BE R#1 [ EE 1.7 B 1.71
10|20k FER R a0 XB B=GF TIR BiFES £y BRI | EER 1.70 EEB 1.70
11 U200k FER B EE EE DEFAN DAY EF IR E HA =2 | EmBk 1.70 =B 1.70
12|U20% FEREBE B & hrAio ¥ BETIS #m E | EE Bk 1.70 EmB 1.70
13|U20% 735 Bk HR #E T7r¥ EIH MHK BE R | & 1.70 B 1.73
14|U20% FE B BE wn $E YIIF /h THES BE B3| EEB 1.70 EE 1.70
15|U20& FERBE B HE TEHYE /7 HEEXEHE HA [ EEB 1.70 =B 1.70
16|20k FEZ B Bk J9FH aHF BAXALGE KR B2 | EE 1.70 EEBE 1.7
17|20k FES B BBE 4 HES LT FERBEE #EN | B2 EEH% 1.70 EE B 1.76
1|v20%k FHE= Bk R WX TEFAN HIS KERS BE B3| EE 4.00 EEB 4.00
2|U20% T Bk At D FhLZ a7 IFIH =R | EEB 3.92 EE B 3.92
3|u20x FHEE R Ll HEE IV FIT AE& PN B | EE Bk 3.92 T 3.92
4|u20% 7 Bk RELEH EE rAZIE h/v |HES #E 2 | EEBk 3.90 EE B 3.90
5|u20x FHEE R HE HAF P2 == RREXTFHREXR |BEX KR (HEEB 3.90 EE 3.90
6|u20k FiEE B BE B YILE TS HWEARS Bz | SR | EEB 3.81 A B 3.81
T|v20x FHEEBE WE BT =4/ 742 BHE Fl =2 | EEBk 3.80 BB 3.80
8|U20k FHEE Bk ER HH YRR H)ay ELES = =3 | EE Bk 3.80 A B 3.80
9|u20x FHEEBE =H T 295 FNIL @& mi2 | EE 3.80 EEB 3.80
10|20k FH = Bk i —ZUNnT Yo E R | EEB 3.80 A B 3.80
11|20k FHEERE BER ART IENT 743 =& K2 | Emik 3.80 HEB 3.80
12 |U20% 75 Bk Kif FEK *AIN N #E S 3.75 A 375
13|U20% FHE=EBE /AR Bk RXF ZFY =t B3| EE 3.75 EEB 3.75
14|U20% 7 Bk AT IR ZURI NILA B =R R | BE ik 3.73 EE B 3.80 4="ybron =5 BT E]
15|U20%& FHEmRE =i 51 SYHF avh JBTIEE (BRI B | Sk 3.70 HEB 370 G- obun =4 B A
16|U20% F o252k I VD&Y ERS O =) B FEA E3i] K1 Bk 3.70 % 3.70 4= ybun =5t B A]
17|U20% FH= Bk # T8 NnyYy FeRm 24z FE =3 | Bk 3.70 HEm Bt 3.70 A= ybrun =54 iG]
1|U20% FEERE BA HE NUEN VFY FIRK #HhE K21 | EMEDE 6.27 FENEBE 6.29
2|u20% FiENERE R E P r e BEEFEX AR K1 | EEBE 6.17 FENEE 6.17
3|U20% FEIEBE BA BNE SYES YT BAKEX HR K22 | ENEDE 6.09 FENRBE 6.12
4|U20% FEMRHE B Bn A R wmiIEs Wiz B3 | EERk 6.08 FENEE 6.08
5|U20% FEIEBE AP R RI=Y $93 FIRK Pl | K2 | EEB 6.02 FENRBE 6.10
6|u20% FENERE FE# #52K AHhvYy a4 EHRD a5 B | EER 6.01 FENEE 6.01
7|u20% F5E R R b NT L3 BRI & K1 | EIEBE 6.01 TENEBE 6.08
8|U20% FEMRHE KE = ATAIF V3 BAXFHRER |5F K1 |FETRBE 6.01 FENEE 6.07
9|U20% FEIEBE BIiR 1 ¥R avh AR FE A3 IRk 5.99 FENRBE 6.16
10|U20% FEHRBE BE 2n DES OV BREX =t K2 | EMERE 5.98 TR 6.21
11|U20% F 1B BE EERES I8 HT hAPELFE |EE A3 IRk 5.98 FENEBE 5.98
12|u20% F3EMERE # DT NYY aXF B D s | iR Rk 5.97 FENEBE 5.97
13|20k FEMERE TEB %8 YFY = BAKER FE K21 | ENEDE 5.97 FENEBE 6.03
14|U20% FEHRBE WP EETE YT EH b 1= = E2 | EERk 5.94 FENREE 5.94
15 |U20% F 1B BE #RE £H YRE =Y plipan=1 #E A3 IRk 5.93 FEEBE 593
16|U20% FEHRBE B LES VLT LS g R w3 | B 5.93 FENEEE 5.93
17|U20% FE1EBE mE UAY SHIY EAHY REMER KR K21 | ENERE 5.92 FENRBE 6.23 4=y run =5 BT E]
18|U20% F5EIRRE it BBK ATHS LA LTS HE K1 | FEIRRE 591 FENEBE 5.93 4= yMun =4 BT
19|U20%& FEMERE K% BIE TAEY LA EARER E3i] 3 | FEIRRE 5.91 et 591 4=l'ybron =5 BT E]
20|u20& F BB #HR IIU—LAY |RXF ISY—LAY [ERHEE #aE A3 | EiRRE 5.89 FENERBE 5.89 4= yMron =4 BB
21 |U20& FEMRRE =3F 1BF e = FRFES il]=] A R 5.87 FENEBE 5.87 4=yhron =5 BT E]
22 |U20% FEIRRE FER EB TSEN hrF HEALE (it B3 | IRk 5.87 FENEBE 5.87 =" yMrun =4 IR
23|U20& FEMRRE £ RER Y <YF EFiRE HA k2 | EER 5.86 FENEBE 5.86 4=y o =45 BT E]
24|U20% FEIRRE 2% BE ¥4 NLH BAZFREKR A K1 | EIRBE 5.85 FENEBE 5.85 4= yMon =4 BT
25|U20k FEMERE BB #E5H YA A1) BIFEEALK Ead K21 | ENERE 5.84 FENRBE 5.98 4=y ron =5 BT E]
26 |U20% FEIRRE BEA BE R¥ES S HEASEE |BE B3 | FEIERE 5.83 FENERBE 5.95 4= yMrun =4 BB
27|U20k FEMERE HE BEE aH R/h NEIE 12 k2 IR 5.83 FENEBE 5.83 4=yhron =5 BT E]
28|U20& F BB EA SPH YIH Hvh I\BEES B s | iR 5.82 FENEBE 5.82 4= yMun =4 HIHTRE]
29|U20% FEIEE RE HE YRE 2197 KIEH KR 3 | FEIRRE 5.82 gt 5.82 4=y o =45 BT E]
1|U20% F = BBk B Bn AL R wmiIEs Wit SR8 | =Bk 12.77 ZERBE 12.77
2|U20% F = Bk B OBE VLT LS Eikrdrey AR B3| BBk 1277 =24 1277
3|u20%F = BxBk e HE Y3+Hh <3k BEEFEX HE KT | =Bk 12.76 ZERBK 12.76
4|u20% 7 = Bk =18 IYUNAY AN BATHER K5 KE | = Eik 12.70 ZERBE 12.70
5|u20& F= Bk A HE PAZ 3% HURK #HhE KT | =Bk 12.69 ZERBE 12.69
6|u20%&F= Bk *E Ef DINE TAF [i55bN L] KE | = Eik 12.58 ZERBE 12.72
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9/27-28 £41EIU20 B AR LR ECEF AR @FFMEH Ty hU—YRF (IR) 202559850 (£)F=

A¥ #E BREESR BEEANT i MERFR | 245 | BETHEE |ENREH| HEARNEE |HEARE %
T|u20%F= Bk BB E# RARY IFH BAXFHRER (%@ K2 | =Bk 12.55 ZERBE 12.55
8|U20% F = &k TEB %8 YFY = BAKER FE R | =Bk 12.54 ZER 12.54
9|u20%&F= Bk &% HF #/ a3 [peldtrt PN B3| =Bk 12.54 ZERBK 12.54
10|U20%& F = Bk KfE HE *A= 329 HEERS BiF | BBk 12.47 ZER 12.47
11|U20% F = Bk KF BT AXE) L1AH EARES ®H B3| BBk 12.46 =Rk 12.46
12|U20% F= Bk B IRk THA IEE I BRI K = RE | =Bk 12.38 ZERBE 12.38
13|U20& F = &k =Rzt anyy ys IBFYEEE ] w3 | BBk 12.32 ZERBK 12.41
14|U20% F = Bk 1= WT 7% Ya bN: BiR B3 | =Bk 12.29 ZERBE 12.29
15|U20% F = BB B HIEI Yha Hh)F NEFE R a2 | = BBk 12.24 BBk 12.24
16 |U20%& F = Bk FH EE T4 Yavh REAMES #hE w2 | =B 12.22 SRR 1222
17|U20%F = BBk A% M 2] RiGES Ri5 B3| S BBk 1218 [=ExBk 12.18 4= yMon =5 HIHTRE]
18|U20% F = Bk e B 1412 HhHT BAKEX FE RET | =EERE 12.16 =243 12.20 4=y run =5 BT E]
19|U20% F = & Bk NI EE AA7 1Y riEE PN B3 | S BBk 12.16 =Rk 12.16 A=y =5 HIBA ]
20 |(U20& F= BBk ik BA A9 FUx MEX #H RE | =Bk 12.14 =243 12.14 4=l'ybron =5 BT E]
21 (V20 F = Bk BR B TINT TR KIRAILK AL | RS | = EERk 1213 (=SB 12.41 G- ybun =4 HIB AR A]
22|U20& F =Bk Bk fHE ETA 27 ERFEX N KRET | = BBk 12.13 =243 12.13 4=h"ybron =5 BT E]
23(U20&F= BBk IRAR EEE YhR T EEFEX =R K2 | =Bk 12.13 =Rk 1213 A=rybrun =54 MG ]
24|U20& FZ R Bk ik B avky 74 LR g EAR3| =EBk 12.12 =243 12.12 4=y run =5 BT E]
25|U20&% F = Bk st R YTHS AT EHFkdEE FE L ik | SRk 1212 =:33 1212 4= yMon =4 BT
1|U20& FRAAIR(4.000ke) [K)II EEERZE IxHT AUF BRED HE B3| BALIR(4.000kg)  |14.29 FAALI%(4.000kg)  [14.29
2|u20Z FRAALIR(4.000kg)  |#k BEHRE AR S vd=V ERPES #s =2 | FaL1%(4.000kg)  |14.06 Fa4L1%(4.000kg) 14.06
3|U20& FRAANLI(4.000ke) |TAR FA JEN FF ES:PN AR K#1|FaALI%(4.000kg)  |14.00 Fa#1.4%(4.000kg) 14.00
4{u20Z FRAALIR(4.000ke) |FE B ES47 UH BHAERERA |ZH K1 |FaH1%(4.000kg)  |13.69 a4 5(4.000kg) 13.69
5|U20& FRaAIH(4.000kg) |HE FiF RS UE BREES ke E 3| FL1%(4.000kg)  |13.50 FaALI%(4.000kg)  [13.50
6|U20Z FRAALIR(4.000kg)  |/MII FifE AHD VA mEs = B2 | A 1%(4.000kg)  |13.42 a4 5(4.000kg) 13.42
T|u20& FRaAL1%(4.000ke)  |3EFE & avky s5h FURK Rk KF1|FaALI%(4.000kg)  |13.41 Fa#1.4%(4.000kg) 13.41
8|U20&Z FRAALIR(4.000kg) |FUB BAIE E3v% 7HY 1EEA &2 K1 |FaH1%(4.000kg)  |13.38 FaI4L15(4.000kg) 13.38
9|U20k FHRAANIZ(4.000ke) |RZ%k %A HAhA SUF NS TR MR | B3| FaALR(4.000ks) 1327 FaLI%(4.000kg)  [13.27
10|U20Z FRaALI%(4.000kg)  |3RA (1745 YHhIF NS ERBAS ERE |&H2|faiik4.000kg) |13.08 Fa#1.4%(4.000kg) 13.08
1|U20& FFA#%(1.000kg)  [#HIL CaAFHE LS¥T Vaqh—7 |ERE R 1| A8E1%(1.000kg)  |47.24 FI#2%(1.000kg)  [47.24
2|u20&Z FMHE%(1.000kg) |3EE 22 av4 oo [ifee=y=1 BE E3 | M#&1%(1.000kg)  |46.71 M#&#%(1.000kg)  [46.71
3|U20& FA#E%(1.000kg) |H AHHA EHY ALY I\&ERRE L) E 13| AAE1%(1.000kg)  |45.58 FI#24%(1.000kg)  [45.58
4|U20% FAHEI(1.000kg) | #FF Fikk RRA UFD BARA® BE =3 | MA&1%(1.000kg)  |45.00 M #%#%(1.000kg)  |45.00
5|U20%& FA#I%(1.000ke)  |IIF P NITLT I FURK dbi#EiE | K1 [FIE8RR(1.000kg)  [44.94 F#&#%(1.000kg)  |44.94
6|U20&Z FAAE%(1.000kg) LA A% YTF UL ERPEE Frt - =3 | MAE1%(1.000kg) 4454 M#&#%(1.000kg)  |44.54
T|u20%& FA#%(1.000ke) | KT FEXK Y/ a4 ELESTHN =R K1 |F8E%(1.000kg)  [44.54 F#&#%(1.000kg)  |45.76
8|U20&Z FHHE%(1.000kg)  |BEE 708 A7 RERFAR 3] ER3 | AAE1%(1.000kg)  |44.40 M#&#%(1.000kg)  |44.40
9|U20%& FMA%(1.000ke) |FHE HF NIE EED PEIESTHN i K2 |85 (1.000kg)  [44.30 F#&#%(1.000kg)  |44.30
10|U20Z FF#&#%(1.000kg)  |dLiR EHi#E FHHD % WAERS RH ER3 | MA&1%(1.000kg)  |43.67 M#&#%(1.000kg)  |43.67
11|U20& FAEEH(1.000ke)  [EE F FFT7A 1A TIIEER JbiBE | k3| FEEIR(1.000kg)  [42.87  |FIHEH%(1.000kg)  |42.87
12|U20Z FH#&#%(1.000kg)  |#AR Z|Ze YNNG Y5 ERFES #s =2 |MH&1%(1.000kg) 4278 M#%#%(1.000kg)  |42.78
13|U20& F AR (1.000ke) | RFE HtHE FURY SF3 RRK 5 K1 |MHE%(1.000ke)  |4245  [FH&I%(1.000kg)  |42.45
1|U20& F/ 07 —1%(4.000kg) | T EZETY YR 32/ UM IR 2 KE1 1\ 7 —1%(4.000kg) |57.06 7\ T —1%(4.000kg) |57.06
2|u20& F/\v—15(4.000ke) | RN B NEHT 2y EEE AR B3| /12 ¥ —1%(4.000kg) | 56.02 7\ T —4%(4.000kg) |56.02
3|U20& F/ v —1(4.000kg) |SBA S YOLAA ¥ JUNH#IIK bl | K1 |\ —12(4.000kg) [55.95 7\ T —1%(4.000kg) |56.82
4|U20% F/\ 7 —1%(4.000ke) |{RFE FR AR NF FERE I BB B3|/ \2r ¥ —1%(4.000ke) |54.72 N\ —4%(4.000kg) [54.72
5|U20%& F/\o v —1%(4.000kg) |AIF BEF Hhok HF AHEBARAR ZH B2 |\ v —$%(4.000ke) | 54.56 7\ T —1%(4.000kg) |54.56
6|U20% F/ v —1%(4.000kg) [5KEH FHHETH +HE eF4 mEE)IES Fhl B3 |/ \2 ¥ —1%(4.000ke) |53.98 1\ —4%(4.000kg) [53.98
T|u20%& F/ >z —1%(4.000kg) |FIf HZ HRTIF LT FRERBILAKX [BS K2 |\ 7 —$(4.000kg) |53.76 7\ T —1%(4.000kg) |53.76
8|U20& F/\> v —1%(4.000kg) | 1T HOZ LT Y PEERERK |RE& K1 (712X —1%(4.000ke) |51.89 7\ T —4%(4.000kg) |51.89
9|U20%& F/\> v —1%(4.000kg) |iEED B4 TEFR AL FRERBUAKX (B K1 |1\ 7 —1%(4.000kg) | 51.81 7\ T —1%(4.000kg) |51.81
10|U20& F/\07—1%(4.000kg) [ N>F A= NF TS AR B3 |1\ T —1%(4.000ke) 5157 N —3%(4.000kg) |51.57
11|U20% F/\o v —1%(4.000ke) |BEE £ Io8 a7 RERFAR 33 B3|/ \2 v —$(4.000kg) |51.31 7\ T —1%(4.000kg) |51.31
12|U20& F/\ov—3%(4.000kg) |/NEFF $EE */75 1t BAX FE K1 [7/\> Y —1%(4.000ke) |51.31 7\ T—3%(4.000kg) |51.31
13|U20% F/\o v —#%(4.000ke) |FI%F #DEE EV/ YT B{OIDER | KR B2 | /"7 —1%(4.000kg) |51.25 7\ T —4%(4.000kg) |51.25
14|U20& F/\o 7 —1%(4.000kg) | KR 1DE FHEHY anL EFkmm L1 B3 |7\ 7 —1%(4.000kg) [51.08 I\ X—1%(4.000kg) |51.08 A=y un =4} ISR A
15|U20%& F/ 2 v —1(4.000ke) #AFE 122 YAH F¥3Y BEXFRE F4N B3| /\> 7 —1%(4.000kg) | 50.74 N7 —4%(4.000kg) |50.74 4=y run =45t BB F
16 |U20%& F/ v —1%(4.000ke) |BEH BAE Ha5 AN TOBREER 8] K1 |\ —1%(4.000kg) |50.74 7\ —3%(4.000kg) |51.30 4=y run =5 BT E]
17|U20% F/ % —1%(4.000ke) |;EFH 48 Yh4 hIT O N I%E KE21 | /127 —$%(4.000kg) |50.58 N7 —4%(4.000kg) |50.58 A=lybFun' =5} iR a]
18|U20& F/\o v —1%(4.000ke) | HA i SYER VS Iz ARSI K =R K21 | /12T —3%(4.000kg) | 50.56 1\ X—1%(4.000kg) |50.56 A=y run —4) HIHR A
19|U20& F/ v —1R(4.000ke) (BB S NEHD ThE e R BEHk3 [\ T —1%(4.000kg) [50.36 |7\ ¥ —3%(4.000ke) [50.36 4= yMron =4 BB
20|U20& F/ > Y—1%(4.000ke) |BJIl S FIF ¥INT a7 MNERWAETE |(#R)I |[&E#2|/\>Y—1%(4.000keg) |50.22 7\ —3%(4.000kg) |50.22 4=yhron =5 BT E]
21|U20&F/ 7 —1%(4.000ke) (RO [F72 YhTF 1 EREES BRE |B&H2|/\>v—1%(4.000ke) |49.84 7\ T —4%(4.000kg) |49.84 A=lybFun' =54 MG AR a]
22|U20%& F/ > Y—4%(4.000ke) |HEIR 4R YING ATT mPE)| TS Al B2 |/ > 7 —1%(4.000kg) | 49.60 7N\ X—1%(4.000kg) |49.60 A=y run =4} HIH R A
1|U20% F 41 $%(600g) AR BE AXFx TYH KEKRER KR B3| °11%(600g) 53.65 Y 1%(600g) 53.65
2|U20% F %01 $(600g) mE D TR Yk IR Z50 K1 |4°Y1%(600g) 50.36 +$5%(600g) 50.36
3|U20% 745U #%(600g) Ak FIF RFH Y3 wns BE B3| °L1%(600g) 49.98 +51)#%(600g) 49.98
4{U20% F %01 $%(600g) Bk =@ 2944 =2 BEX L] KE#1|4Y1%(600g) 49.37 A5 $%(600g) 49.37
5[U20% 745U #%(600g) HE RE L5 )T =iFE FH B3| 101 $%(600g) 49.16 A51)1%(600g) 49.16
6 U202 F 41 $%(600g) 1R #ETE T 24N RREFREKR b8 KE#1|4Y1%(600g) 49.12 +51)$%(600g) 49.12
7{U20% F+51#%(600g) R NIYF wF ®RE Al B3| 01 1%(600g) 48.96 +51)1%(600g) 48.96
8|U20% F%°1)$%(600g) BE B8 EXF LA+ I R I K1 | YU (600g) 48.77 A5 1%(600g) 48.83
9{U20Z F 45U #%(600g) 2l B2 J8H7 Tk wEE = B3| 121 $%(600g) 48.73 +51)1%(600g) 49.36
10|U20% F %1 $%(600g) ik BE aVky a7 FURK FEL KE1|4°Y1%(600g) 48.34 +$%(600g) 48.34
11]U20% F 41 #%(600g) B #EXE 8Fh 7= PHRFELFE [EE B3| 115 (600g) 48.31 U 1%(600g) 49.13
12|U20% F %1 $(600g) Hep #K s+Hh a4 N =il B3 151 #2(600g) 48.17 A5 1%(600g) 48.17
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